20250331

th 2= M3 &

MACHINE ACCESSORIES







T

DA ey P

BNERNBMERRABMIIF1997F, SUHISEPEENENG, MAFATINM. EDRINWE. SN
. Rmiig. BB . SERENM. S0, FEININGE. BRI, BaE. ErsEm. 2533540
Fo

FoAUERRER. VBEETRER. FRFE. FiL. BNFHE. TFFR. TRFH. FREF. HERF.
35;?9?\ FHE. RNAELF. tEIEF. NXT|L., REEEF. “SANKQ” FmEEHE. EXifl. XM\ FEIEE
RF,

WENZHOU SANKQ MACHINE ACCESSORIES CO.,LTD is a specialized manufacturer in dealing with

middle and high quality machine accessories since 1997. Our company provides a comprehensive range

of products which widely applied in woodworking machine, printing machine, packaging machine, food
machine, glass machine, shaping machine, tube machine, press sheet metal working machine, textile machine,
electrombile, medical instruments, fithess equipment and machine tool.

m

Our supply involves position indicators, position gauges, handwheels with position gauge, handwheels,revolving
handles, fold-down handles, adjustable handles, pull handles, spherical knobs, long knobs, lobeknobs, star knobs,
buckle type plug and hinge, etc.

Our products have been sold to the areas of China, European countries, American countries, South-EastAsian
countries and so on.




HER

SANKQ

Adjustable series

SKO04 8! {ii & R =2% Position indicators

20
EWEH Example for order: 4.2
SKo4 12 — 15 (0015 | —14—0 P - B3 s
T pommmmm, N=RBRERE st — —Ts
P=with pedestal, N=without pedestal
ShEEE:. O=M EE, B0 28, G= Xk& _
Color: O=Orange, B=Black, G=Grey iﬂlﬁm?éséeoé‘ucﬁ_'g sleeve
(B RRSRTOMIRMERR: 014K d=6,8,10,12mm

INF1AZKRAMESKO4-RH(GE)

FEARFENZ LM “SS” , 1SS14

Hollow shaft bore: ®14mm

Reducing sleeve will be adopted when less than 14mm
If need stainless steel hollow shaft add “SS”

For example SS14

s E(GE)

|=F3mlRETEtiEsE, (8 BREAT B RIIEIRIE X
E=iraT e, VERREMERNEURIEX
Counting direction

|I=Clockwise increasing E=Anticlockwise increasing

NBAIFFR, FHiEE 1B E SR 2REE(RR)
ERRERIRN, ANATEBRAS

Display after one revolution

It will be omitted when norm display

FHETIIE(TF)Axial pitch
LRI Mounting position
B=Type

483 Mounting position

O.
@
SK0412 SK0414

i
Counting direction

123 dz)

JERRE
Pedestal

SK0414 SK0416 SK0417
200 —2— —2-
O [e]
+ gty % 8| 8|
AV~ Grub screw 1 i
N
EREIZEN i g | |s
&) S LAEE
= 2
14
33 8| 24 e "
SK04-PE 15/%EE Cushion
Pedestal
A TR MWERIFFR, EihE 1 BAE B BrmEiE BARE (%/9)
Axial pitch Display after one revolution Max speed(r/m)
1.0mm FOESEE Norm 001,0 = g Or 00,10 = g Or 0010 = 1500
1.25mm FrEEHE Norm 001,2/5 g% Or 00,12/5 5% Or 0012/5 1200
1.5mm FREEWE Norm 001,5 = g Or 00,15 = g Or 0015 = 1000
1.75mm tEREE Norm 001,7/5 g% Or 00,17/5 5% Or 0017/5 850
2.0mm FOESEE Norm 002,0 =— g Or 00,20 = g Or 0020 = 750
2.5mm FREEEE Norm 002,5 = g% Or 00,25 = =% Or 0025 = 600
3.0mm FREEWE Norm 003,0 = g Or 00,30 = g Or 0030 = 500
4.0mm FREEEEE Norm 004,0 = 8¢ Or 00,40 = 5f Or 0040 = 375
5.0mm FRESWE Norm 005,0 = = Or 00,50 = gk Or 0050 = 300
6.0mm FRESEE Norm 006,0 = = Or 00,60 = gk Or 0060 = 250
8.0mm FREEWE Norm 008,0 = = Or 00,80 = g Or 0080 = 180
10.0mm tRESEE Norm 010,0 = g% Or 01,00 =— 5% Or 0100 = 150

www.sankg.com

20250331 ([EID



RTER

Adjustable series

SANKQ

SK19 B B R 7==E Position indicators

EMWEH) Example for order:
SK19 12 — 4.0 (00040) E — 20 — O P

[

JEERE
Pedestal

P=RaEIREE, N=ATHL LR
P=with pedestal, N=without pedestal

ShEEE: O= MiEE, B=0E&, G=

MNER TR OHITERR:

Color: O=0Orange, B=Black, G=Grey
D20=K

INF0ERRAHESK19-RH(BE)
BRI LN “SS” , #MSS20

Hollow shaft bore: ®20mm

RE

d

Reducing sleeve will be adopted when less than 20mm
If need stainless steel hollow shaft add “SS”

For example SS20
A E(AE)

|=FEHIRITEtIrSe, B TR E AR
E=EHiPERTEiret, MEERBAMETAIEGEER

Counting direction
|I=Clockwise increasing

E=Anticlockwise increasing

NERIFFIA, T 1B E RS2 riIsuE(x)
STVEMIEN, AR ERAE

Display after one revolution

It will be omitted when norm display

EHhEhE TSR (IR )Axial pitch
ZEERIFMounting position
BSType

20

DdHr
D 2017

SK19-RH
mEMZReducing sleeve
10,11,12,14,15,16,18mm

AFH

©.

12345z

SK1912 SK1914

G E
Counting direction

SK1912 SK1914 00 ] SK1916
? sean (F
ol | o] —
2L % 5[” g 1
J\D) ol -
2= )‘F I;[ 2 —]
026/ 3 9| 30 112, 2
SKIQREIZRE  fon
FiET5EE WERFHIR, EHbER 1 BRI E B respt BniEiE BARE (%/59)
Axial pitch Display after one revolution Max speed(r/m)
1.0mm FrEEHE Norm 0001,0 = = Or 000,10 = = Or 00010 = 1500
1.25mm FRAESWE Norm 0001,2/5 8k Or 000,12/5 g% Or 00012/5 1200
1.5mm FrfEEHE Norm 0001,5 = = Or 000,15 = g% Or 00015 = 1000
1.6mm FRESWE Norm 0001,6 = gk Or 000,16 = g% Or 00016 = 1000
2.0mm FrEEEHE Norm 0002,0 = = Or 000,20 = = Or 00020 = 750
2.5mm FRAESWE Norm 0002,5 = g% Or 000,25 = gk Or 00025 = 600
3.0mm FRAESEWE Norm 0003,0 = g% Or 000,30 = g% Or 00030 = 500
3.6mm FREEWE Norm 0003,6 = =% Or 000,36 = = Or 00036 = 500
4.0mm FRAESWE Norm 0004,0 = g Or 000,40 = g% Or 00040 = 450
5.0mm FrEEHE Norm 0005,0 = = Or 000,50 = g Or 00050 = 300
6.0mm FRAESWE Norm 0006,0 = 8 Or 000,60 = g% Or 00060 = 300
8.0mm FrEEHE Norm 0008,0 = = Or 000,80 = g Or 00080 =- 250
10.0mm FRAESWE Norm 0010,0 = g% Or 001,00 = g% Or 00100 = 150

@& 20250331

www.sankg.com



HER
Sanka

SK04-KP #iE#R Clamping plates(SK04 B934 Annex)

' 33 30 ATA
R70 ” 15
m\ 195 4.4 44
g :
Do© e - —r
o | 0
|
d T A =
E i - &
<
| |
¥t BERRESCGENESS
Material: Black anodized aluminum
PEFHAMR. FES
Clamping handles body material: Zinc alloy
PIEHRFR d=8,10,12,14mm
Bore: d=8,10,12,14mm
SK19-KP #i#&1k Clamping plates(SK19 B9k 4 Annex)
A
R80 !
48 30 A—A
34 20
R4
S
©
] ° —+
© ~ N
© ~ ©
55 |1 55 °
N~
& 5 -
E h
| | o 10
A N o

M ReRRkErtENEES S

Material: Black anodized aluminum
YEFWAMR: F52

Clamping handles body material: Zinc alloy
PEHRFR d=16,20mm

Bore: d=16,20mm

www.sankg.com 20250331 (€



RTER

Adjustable series

SKO09 B{si B R =88 Position indicators

EM%HI Example for order:
SK09 12 — 4.0 (00040) E — 20— 0O C

L

EfRLEE . CHD(E)

The structure of torque pin: C or D
ShEEE: O=miEE, B=m 26, G=
Color: O=Orange, B=Black, G=Grey
NER TS UMITERR: 020K
INF02= XK RAHMESKOI-RH(GE)
Hollow shaft bore: ®20mm

Reducing sleeve will be adopted when less than 20mm

TS E(GE)

;'.
L)

|=EHIRBTETIFEe, (B RS EnEUEIEK
E=EHEIsIreE, NERRSEMETRAIEGEER
Counting direction
|I=Clockwise increasing E=Anticlockwise increasing

ERNERIEN, ARTEBRAS
Display after one revolution
It will be omitted when norm display

=

i T EE (L& )Axial pitch

b r

LRI Mounting position

S Type

%ﬁg:':l‘. Mounting position

WERITFHIR, b1 B E B B rIEIE(IR)

®dnr
=]
n

D207

SK09-RH
HEMRReducing sleeve
d=10,11,12,14,15,16,18mm

(©

i} 7 551

©.

—/
SK0912 SK0914
R

Counting direction

SK0916 SK0917
;. 8 ¢C 10 D
s
¢ SEEY, E H
= '\k N % 777;?
8 ﬁ N MMy S s FEfTgBED
g \kJ/ ef} 77777 } } B0 Torque pin structure D
> |
02.6/] | ﬁg %7‘, 2
9 42 O
EEEIC Cushion
Torque pin structure C
i TIE MEfFFa, Fimbeik 1 BE SR8 BR0E0E BRARE (%/9)
Axial pitch Display after one revolution Max speed(r/m)

1.0mm FrfEEHE Norm 0001,0 = 8% Or 000,10 = g Or 00010 = 1500
1.25mm FRESEE Norm 0001,2/5 gk Or 000,12/5 gk Or 00012/5 1200
1.5mm FrfEEHE Norm 0001,5 = 8% Or 000,15 = 8k Or 00015 = 1000
1.75mm FRESEE Norm 0001,7/5 gk Or 000,17/5 gk Or 00017/5 850
2.0mm FrEEHE Norm 0002,0 = 8% Or 000,20 = 8% Or 00020 = 750
2.5mm FrAEEHE Norm 0002,5 = 8% Or 000,25 = 8k Or 00025 = 600
3.0mm FrEEHE Norm 0003,0 = 8% Or 000,30 = 8k Or 00030 = 500
4.0mm FrEEHE Norm 0004,0 = g% Or 000,40 = g Or 00040 = 450
5.0mm FrAEEHE Norm 0005,0 = 8¢ Or 000,50 = 8k Or 00050 = 300
6.0mm FrfEEHE Norm 0006,0 = g% Or 000,60 = g Or 00060 = 300
8.0mm FrEEHE Norm 0008,0 = 8k Or 000,80 = 8k Or 00080 = 250
10.0mm FRESEE Norm 0010,0 = g Or 001,00 = g Or 00100 = 150

@ 20250331

www.sankg.com



HER

SANKQ

Adjustable series

SK108¢ i & R~ Position indicators

EMZ4I Example for order: 055
SK10 12 — 2.0 (00020) | —30—B C Y

T s, vz(uE)
The position of torque pin: Y or Z

TS, CHED(E)
The structure of torque pin: C or D mEW’ZS}{(LO_RH |
SMEHIE: O=M &6, B=N2EE, G= K& <isseduoing sleeve
Color: O=0Orange, B=Black, G=Grey d=20,22,24,25,26mm
MNEERRTOMNERR: 030K
INFI0ZAKRAHMESKI0-RH(GE]) _— —
Hollow shaft bore: ®30mm (REEEC] < )
Reducing sleeve will be adopted when less than 30mm E 1

75 (G EE) @ =

DdHr
@307

= RIRETEIPEE, (8BRS B RIOSURIA ~—
E=F PRt EiF, V&S nsEnNEUEEX SK1012 SK1014
Counting direction HE5E

|I=Clockwise increasing E=Anticlockwise increasing Counting direction

NERIFFIE, FHbFEE 1B E sl 2 EUE(IE)
B ERIER, AT ERAS

Display after one revolution

It will be omitted when norm display

FHhshE T EE (IZ)Axial pitch
Z4#AIZMounting position

BSType

#%#% B Mounting position

HEEET

Grub screw

ERRLEEAD
Torque pin structure D

@ 30H7
1
L

L]
47

A ]
9| 2

9| 44 mp
Tordue by boshen Por 7 Toraue s e C cuehen

@ TR NWERFHR, THbER 1 B E RSt BriEiE BARE (%/59)

Axial pitch Display after one revolution Max speed(r/m)
1.0mm FrfEEHE Norm 0001,0 = = Or 000,10 = g% Or 00010 = 1500
1.5mm FrAEEEE Norm 0001,5 = 8% Or 000,15 = 8 Or 00015 = 1000
1.75mm FrfEEHE Norm 0001,7/5 = Or 000,17/5 =% Or 00017/5 850
2.0mm FrAEEEE Norm 0002,0 = 8% Or 000,20 = 8% Or 00020 = 750
2.5mm FrfEEHE Norm 0002,5 = g Or 000,25 = g% Or 00025 = 600
3.0mm FrAEEEE Norm 0003,0 = 8% Or 000,30 = 8% Or 00030 = 500
4.0mm FRESEE Norm 0004,0 =- g% Or 000,40 = g; Or 00040 = 450
5.0mm FrEEHE Norm 0005,0 = g Or 000,50 = g Or 00050 = 300
6.0mm FRAESWE Norm 0006,0 = g% Or 000,60 = g Or 00060 = 300
8.0mm FrEEHE Norm 0008,0 = g Or 000,80 = g Or 00080 = 250
10.0mm FrEEHE Norm 0010,0 = g% Or 001,00 = g% Or 00100 = 150

www.sankg.com

20250331 G’



RTER

SANKQ

Adjustable series

SK10L BB R =2 Position indicators

30
£ Example for order: 255
SK10 12 — 2.0 (0002,00 | — 25—~ B C Y s =
oY 12 &y VW _ S 5
L s, YzZouE) s s
The position of torque pin: Y or Z
ELABENE: CHD(WE)
The structure of torque pin: C or D SK10-RH
575, O=M BE, B=M2E, G= K& TP Reducing sleeve
Color: O=0Orange, B=Black, G=Grey =20mm
MESREIMKZOHMRE. 0252K
INF252KRAMMESK10-RH(HE]) . —
Long Hollow shaft bore: ®25mm Az3eom 4 )
Reducing sleeve will be adopted when less than 25mm 1

¥ E(AE)

|=EHIRETEFEE, BBt nRVEUEIE X
E=EHFREIFE, MERrasMTRrRvEUEEX
Counting direction

|I=Clockwise increasing E=Anticlockwise increasing

SK1012 SK1014

S E
Counting direction

WERFHE, EHFFR 1B E SRS EnNEE(IER)
ERRERIREN, AN EBAS

Display after one revolution

It will be omitted when norm display

FhaBIE(FR)Axial pitch
LRI Mounting position

BSType

%85 Mounting position

N
%"o ]
SK1014 SK1017
Negzan
ﬁ_x
Al 118 o,
A | .
9| 44 e
Torde oy besen For 2 A e oueen
FiiE T EE NENFHR, FHlER 1 B E SR EnrsuE BARE (%/9)
Axial pitch Display after one revolution Max speed(r/m)
1.0mm FRAESWE Norm 0001,0 = = Or 000,10 = = Or 00010 = 1500
1.5mm FRAESWE Norm 0001,56 = =% Or 000,15 = g% Or 00015 = 1000
1.75mm FREEWE Norm 0001,7/5 =¥ Or 000,17/5 =¥ Or 00017/5 850
2.0mm FRESEEE Norm 0002,0 = 8 Or 000,20 = g, Or 00020 = 750
2.5mm FrAEEEE Norm 0002,5 = 8% Or 000,25 = 8% Or 00025 = 600
3.0mm FRAESWE Norm 0003,0 = g Or 000,30 = g% Or 00030 = 500
4.0mm FREEEE Norm 0004,0 = g Or 000,40 = g% Or 00040 = 450
5.0mm FRAESWE Norm 0005,0 = g% Or 000,50 = gk Or 00050 =- 300
6.0mm FRAESWE Norm 0006,0 = g Or 000,60 = g Or 00060 = 300
8.0mm FREEEE Norm 0008,0 = g Or 000,80 = gk Or 00080 = 250
10.0mm FrAEEEE Norm 0010,0 = g Or 001,00 = g Or 00100 = 150

@ 20250331

www.sankg.com



SANKQ EREER]

Adjustable series

SK20 8 &R =28 Position indicators

30
EMEH Example for order: ess
SK20 12 — 2.0 (R002,0/0002,0)7I7 —30—B C Y
T st E: YSiZONE) g e 5
The position of torque pin: Y or Z =3 e
EffpsEE . CHD(IE)
The structure of torque pin: C or D
INEEE: O=miEE, B=m 26 SK20-RH
Color: O=Orange, B=Black HHEMEReducing sleeve
BB TEDOMITAERRE, 0308K d=20,22,24,25,26mm
/NFI0ZHKREFAHESK20-RH(GE)
Hollow shaft bore: ®30mm
Reducing sleeve will be adopted when less than 30mm
HHHpE(EE)
I=FHIRATEIFEE, (MERERSFIERIEGEEX
E=UnEATEiFe, 8 R IRk
Counting direction
|I=Clockwise increasing E=Anticlockwise increasing
NELIFFR, EHFE 1B S B8P Bz
Display after one revolution
FiHE TS EAXial pitch
L 4RI Mounting position
BSType
@
R _6_C ©10 D
Y o |
EEIRE] 1=
Grub screw
= I
SIL - FERIBID
P N 4‘ =% Torque pin structure D
A ]
1ol 2
= Chshbn
EMBEYHZ EMBLEC
Torque pin position Y or Z Torque pin structure C
FimET5EE WERFHR, EHbER 1 BRI E B respt BmiEiE BARE (%/9)
Axial pitch Display after one revolution Max speed(r/m)
2.0mm FRESEE Norm 0002,0 = ‘ 5% Or 000,20 = ‘ 8% Or 00020 750
SK7330ZIE#iENEsAS cale fine turning control knob
j -
ME. BEERWmR. WERRR
Material: Black nylon plastic body, Steel hub
XS Code ##& Description D d L L1 d1
7330130 27 x6 27 6 32 16.5 M4
7330240 32x8 32 8 38 17.5 M4
7330350 35x10 35 10 43 19.5 M4
7330460 40%x12 40 12 53 20.5 M4

www.sankg.com 20250331



RTER

Adjustable series SAN KQ

SK60. 80. 100fi& &3 Position gauges

EMEH] Example for order:
SK60 R20 (0-20) DX

RRZEMNEIX S E(WE)
DX=:#ZZIEEIREEt 75 mMNEIX
SX=FRBZIEEFRE T EMNNEIX
Direction of dial scale

DX=Clockwise increasing
SX=Anticlockwise increasing

FR£2%IE0-20 Dial scale from 0 to 20
£, Reduction ratio

R20FTEEL20; 1 FEAEENNEIATTE
R20 means the ratio is 20:1 Direction of dial scale
BSType
D
f
|
o !
D1
o - . RERZEE (TE)
S Type D D1 H B {EEILE Ratio Bl ser e
SK60 57.5 54.5 31 9.5 10:1, 12:1, 15:1, 0-10, 0-12, 0-15,
16:1, 18:1, 20:1, 24:1, 0-16, 0-18, 0-20, 0-24,
SK80 81.5 /8.5 37 15 25:1. 3011, 36:1, 40:1, 0-25. 0-30, 0-36, 0-40,
SK100 107 100 36 15 50:1, 80:1, 100:1 0-50, 0-80, 0-100
UBIErREEFRER, SF2ERTR, BECHZA.
HUEETRNFRZETKEM L, FRPNOUERRREGRHREERNEINENARMVE,
RRZAEETLUREFEKIT. $hig.
Position gauge used with handwheel, which is used in counting or indication the movement of instrument.
When handwheel is fixed to horizontal spindle, the gauge indicates different positions of spindle.
Special designs of dial scale available on request.
SK7324%F B FE Handwheels with position gauge
SK7324130/R SK7324340/R
-B_
B
&, H _
oo 1
di |
H1 dig
h H1
" o
H
M, BEIYERERE Material: Matte polyamide resin
XS Code
S
wmE HEypaE Description D d h H D1 H1 d1 B
With gauge With cover
7324130/60R OO0 7324130 70x10 70 | P10 18 49 D26 14 D4 16
7324340/60R OO0 7324340 110x12 D110 | P12 19 51 D30 18 D4 17

@D 20250331 www.sankg.com



Plug series

SK7328#w&FEmF 4 Handwheels with position gauge

D1

M. 2elcRER. EesttBrmEEER Material: Matte polyamide resin, Black oxidation treatment steel hub
iE: B SK7010 mT3rF# Match SK7010 fold—down handles

A D d h H D1 | Hi | di B L b t

ftS Code Description

7328445/60R OO 133x12x50 @133 | ®12 | 27.5 61 D24 12 M5 26 50 4 13.8

7328666/80R OO 163x16x63 ®163 | P16 32 71 ®32 15 M6 33 63 5 18.3

SK7360#&EF i Aluminum handwheels with position gauge

SK7360H130/R SK7360Z130/R

M BeRELIEEESE Material: Aluminum alloy
. “H” BERFER, “Z7 BELFH® “H” knurling handwheel “Z” ruled surface handwheel

e LS Code P AL D d h H D H d
G R Description ! ! !
With gauge With cover
7360H130/60R OO 7360H130 65%10 D65 P10 22.5 54 D32 18 M6
7360Z130/60R OO 73602130 65%10 P65 P10 22.5 54 D32 18 M6

www.sankg.com 20250331 (€



ZL R SANKQ

Plug series

SK10-CVmE#RZ:k Panel plug

62.5
2 1
4 N\ ]
2 2 3
\_ J SHRIMREE1.8-2.0mm
4. | The thickness of armor plate
52.2 o
R RETREBR
Material: Matte polyamide resin
SK10-WDmtR# & Panel display window
39 2 1
4 N\ ol
S
o 3
: o - 2 o
o || i
| 1E
\. J =
51.4 3.5 BERIREET.8-2.0mm
58 QJJ The thickness of armor plate
54.2

il BReIRERR
Material: Matte polyamide resin

m 20250331 www.sankg.com



LR

Plug series

SANKQ

SK7605#1xVE:LBuckle type plug

L2

Bore diameter

fNiRIEESteel plate thickness
0.8-3.2mm

3.2
24

L. BEIER Material: Matte polyamide resin
g {NRTREBFLE S £ FLAVZESL Purpose: The plug of steel plate reserved hole or spare hole

X5 Code ##& Description d D D1 H

7605105 d8 »8 ®10.5 7.8 8.1

7605135 d10 ®10 ®13.5 ®9.8 10.3
7605165 d13 13 ®16.5 ®12.8 10.3
7605195 d16 16 ®19.5 ®15.8 10.3
7605240 d20 ®20 24 ®19.8 10.3
7605260 d22 22 26 ®21.8 11.3
7605295 d25 ©25 ®©29.5 ©24.8 11.4
7605350 d30 @30 ®35 ®29.8 11.6

SK7607#1xXZE:LBuckle type plug

BN ES

Bore diameter

iMiR/ZE Steel plate thickness
0.8-3.2mm

. BeIERER Material: Matte polyamide resin
g INIRTREBFLEL S RFLAIZESL Purpose: The plug of steel plate reserved hole or spare hole

X5 Code #H& Description d D D2 H
7607160 d10 ®10 16 ®13.5 12.5
7607215 d16 16 ®21.5 ®19.5 12.5
7607325 d24 ®24 ®32.5 ®27.5 13
7607350 d29 ®29 35 ®32.5 13.5
7607520 d46 46 ®52 ®49.5 13

www.sankg.com

20250331 ([EED)



ZL R

SANKQ

Plug series

SK7605 1=t £k Buckle type plug

R

Bore diameter

fNIRZESteel plate thickness
0.8-3.2mm

3.2
24

. BET R

Material: Matte polyamide resin

& WIRMEBEFL S RFAIZEL

Purpose: The plug of steel plate reserved hole or spare hole

X5 Code ##& Description d D D1 H

7605105 d8 »8 ®10.5 7.8 8.1

7605135 d10 10 ®13.5 ®9.8 10.3
7605165 d13 13 ®16.5 ®12.8 10.3
7605195 d16 16 ®©19.5 ®15.8 10.3
7605240 d20 20 24 ®19.8 10.3
7605260 d22 ®22 26 ®21.8 11.3
7605295 d25 ©25 ®©29.5 24.8 11.4
7605350 d30 ®30 ®35 ®29.8 11.6

SK7607 #1zXZ:k Buckle type plug

2

Bore diameter

. iR /EESteel plate thickness
+ 0.8-3.2mm

7 BETRER

Material: Matte polyamide resin

% WIRFBFLHZSRILAIEL

Purpose: The plug of steel plate reserved hole or spare hole

X5 Code #4& Description d D D2 H
7607160 d10 ®©10 16 ®13.5 12.5
7607215 d16 16 ®21.5 ®19.5 12.5
7607325 d24 24 ®32.5 ®27.5 13
7607350 d29 ®29 ®35 ®32.5 13.5
7607520 d46 46 ®©52 ®49.5 13

m 20250331 www.sankg.com



SANKQ R

Hinges severs

SK7722%4% Zinc alloy hinges

Bt °
Annex 180

N

A
L
. BEERBLGENESS. BESMCEANERMEE "SS" R HH
Material: Zinc alloy, Black oxide treatment of steel shaft or "SS" stainless steel shaft
i P WS EINELARAAERE dx| “F” with annex alloy steel HEX socket head screw d x |
XS Code ##& Description L A+0.25 d1 d2 B H c d |
7722222F 40x40 40 25 5.5 ®10.5 5 9 14 M5 12
7722333F 50 x 50 50 30 6.5 »12.5 6 11.5 18 M6 16
7722444F 60 %60 60 36 8.5 »16.5 8 15 21.5 M8 20
7722SS222F 40%40 40 25 d5.5 P10.5 5 9 14 M5 12
7722SS333F 50 x50 50 30 6.5 »12.5 6 11.5 18 M6 16
7722SS444F 60 %60 60 36 8.5 »16.5 8 15 21.5 M8 20

SK7724SSAEMEE Stainless steel hinges

///,‘..'é D) o
A
L
¥k, SUS304 REBI , = km
Material: SUS304 Stainless steel , High—polished surface
i “FT HHMMEARBINTESLARNARET d x| With annex stainless steel HEX socket head screw d x|
X5 Code ##& Description L A+0.25 d1 d2 B H @ d I BEg
7724SS222F 40x 40 40 25 ®5.5 ®10.5 5 9 14 M5 12 45.0
7724SS333F 50 x50 50 30 6.5 d12.5 6 10.5 18 M6 16 92.2
T724SS444F 60 x 60 60 36 8.5 $16.5 7.5 14 21.5 M8 20 108.3

www.sankg.com 20250331 m



R

Hinges severs SAN Ko
SK7724 AFIBH & &8 Zinc alloy hinge with studs
ML HESNER. W, FERERERIESE
Material: Zinc alloy, Steel studs
XS Code ##& Description L A£0.25 B H © d I EEg
7724A222 [ 38x38 38 25 5 9 14 M5 10.5 44.0
7724A333 0 46 x 46 46 30 5 11.5 18 M6 12 71.3
7724A444 ] 57 x57 57 36 7.5 14 21.5 M8 17 168.2
SK7724 ASSTHIZHEAREWELHE Stainless steel hinge with studs
D D
- U EB/I | @ A <
c ] D D
SS: FERNE N SERE
Stainless steel hinges and bolts
ME: AENNESTTSIRE. RENSY
Material: Stainless steel , High—polished surface
K= Code ##& Description L A+0.25 B H G d I BEg
7724ASS222 40%40 40 25 5 9 14 M5 11 63.3
7724ASS333 50 x 50 50 30 6 10.5 18 M6 12
7724ASS444 60 %60 60 36 8 14 21.5 M8 17

€ 20250331

www.sankg.com



SANKG FHE5)

Handwheels series

SK7328#WEBEFmFL Handwheels

M. ZeIYRER. 2eattBrmELER Material: Matte polyamide resin, Black oxidation treatment steel hub
iE: B SK7010 AJ#rEFE#H#E Match SK7010 fold—down handles

= Code | #i#& Description D d h H D1 H1 d1 B L b t
7328445 133x12x50 »133 D12 27.5 61 D24 12 M5 26 50 4 13.8
7328666 163x16x63 D163 D16 32 71 D32 15 M6 33 63 5 18.3

www.sankg.com 20250331 m



SANKG F4E5

Handwheels series

SK7310AEENIESF4I Spoke handwheels

D H

M, BEEEBESS Material: Aluminum alloy
£ EaBAEFEWM, SEFRBEERSS "F" Match fold—down handles.Please add "F" in the code if you need a flat key

X5 Code ##& Description D d h H B L b t

7310A345 100x12 x50 ®100 D12 20 40 20 50 4 13.8
7310A446 125%x12%63 D125 D12 20 44 22 63 4 13.8
7310A667 160 x 16 x 80 D160 P16 20 50 25 80 5 18.3
7310A877 200x18x%80 200 D18 25 56 28 90 6 20.8

SK7310PR N iEFF i Spoke handwheels

R BETARER, HEER
Material: Matte polyamide resin, Zinc alloy hub
it BUREFER, SEEEBERSHIN"F" Match fold-down handles.Please add "F" in the code if you need a flat key

X5 Code ##& Description D d h H B L b t

7310P345 100%x12 x50 100 D12 20 40 20 50 4 13.8
7310P446 125x12%63 D125 D12 20 44 22 63 4 13.8
7310P667 160 %16 x 80 D160 P16 20 50 25 80 5 18.3
7310P877 200x18x%80 @200 D18 25 56 28 90 6 20.8

www.sankg.com 20250331 S 4



FIERT

Handwheels series SANKQ

SK73035%4&F i Square rim handwheels

EWECap D

ME BeTTRER. ZREALENNESE. BT REIRERIE
Material: Matte polyamide resin, Black oxidation treatment steel hub, Matte polyamide resin cap
iE: B SK7005 #s1FEH Match SK7005 revolving handles

X5 Code s
REEERR LG Description D d h H D1 H4 d1 B do L b t d2 h2
Without handles| With handles
7303340 - 100x12 | ®P100| P12 | 235 | 45 [ P24 12 | M5 20 | M6 4 13.8 | 18 4
- 7303345 | 100x12x50 |P100 P12 | 235 45 |24 12 M5 | 20 M6 | 50 4 13.8 | 18 4
7303440 - 125x12 | ®125 P12 | 275 50 P24 12 M5 | 235 M8 4 13.8 | 22 4
- 7303446 | 1256x12x63 |®125 P12 | 275 | 50 P24 | 12 M5 | 235 M8 | 63 4 13.8 | 22 4
7303660 - 160x16 |P160| P16 | 32 60 P32 15 | M6 | 27.5 | M10 5 183 | 28 5
- 7303667 | 160x16x80 P160 P16 | 32 60 | P32 15 M6 | 27.5| M10 | 80 5 183 | 28 5
7303870 - 200x18 @200 18 | 39 73 P40 15 | M8 | 31 | M10 6 |20.8| 36 6
- 7303877 | 200x18%x80 | 200 ®18 | 39 73 P40 15 M8 | 31 | M10 80 6 208 | 36 6
SK7304 554 Fi Square rim handwheels B L
o —
h he |
e
4 5[1: -8
di L
;
H
ZMECap
. BETeREE. 2EaHLBNINERLE. BelRERERE
Material: Matte polyamide resin, Black oxidation treatment steel hub , Matte polyamide resin cap
iE: B SK7010 A#rEFEH Match SK7010 fold—down handles
XS Code ##& Description D d h H D1 H1 d1 B L b t d2 h2
7304345 100x12x50 D100 P12 235 | 45 P24 12 M5 20 50 4 13.8 18 4
7304445 125x12x50 | ®125| ®12 | 27.5 50 D24 12 M5 24 50 4 13.8 | 22 4
7304666 160x16x63 | P160| P16 @ 32 60 32 15 M6 28 63 5 183 28 5
7304877 200x18x80 | 200 D18 | 39 73 P40 15 M8 31 80 6 20.8 | 36 6

m 20250331 www.sankg.com



SANKG F4E5

Handwheels series

SK7302:/hF ¢ Little handwheels

B L
g |
. - alo —
| 1
H1
h
D H
Ml BESNAREMER. ReSEIRERER
Material: Duroplast, Black oxidation treatment steel hub
iE. B SK7002 /\FiE Match SK7002 little handles
S Code o D d h H D H d B d L
REBFH INERE Description ! 1 1 0
Without handles With handles
7302230 80x10 »80 | P10 16 32 22 12 M5 12 M6
7302232 80x10x25 P80 | P10 16 32 P22 12 M5 12 M6 25
7302340 100x12 D100 | P12 18 36 D28 13 M6 14 M6
7302343 100x12x32 | ®100 | P12 18 36 D28 13 M6 14 M6 32
7302440 125x12 D125 | P12 20 40 28 14 M6 16 M6
7302444 125x12x40 | P125 | P12 20 40 28 14 M6 16 M6 40
SK7305E54F 4 Circular rim handwheels
B L
5 —
b *Ijh
A Sk
h
D H
. BeSNRENER. ReSUEBNNRER
Material: Duroplast, Black oxidation treatment steel hub
iE: B SK7006 #zhFH# Match SK7006 revolving handles
XS Code
Mg
FUER LG Description D d h H D1 H1 B do L b t
Without handles With handles
7305340 100x12 P100| P12 | 18 30 | ®20 | 0.5 16 M6 4 13.8
7305345 100x12x50 | 100 ®12 | 18 30 | ®20 | 0.5 16 M6 50 4 13.8

www.sankg.com 20250331 m



FIERT

SANKQ

Handwheels series

SK7307D1EMAESIF Short insert inner corrugated handwheels

Niil

H1

FF4EANNex

E BeSXAENER . BeSBrNRLE
Material: Duroplast, Black oxidation treatment steel hub
iE: B SK7011 mT3rF# Match SK7011 fold—down handles
“F7 KM . T, ELRNEIBET “F7 with annex washers, carbon steel flat keys, counter sunk screw

=S Code Description D d h H D1 H1 B L b t d2 h2
7307D345F 100x12x50 | ®100 ®12 18 | 42 | ®25 15 26 50 4 | 138 @20 4
7307D446F 125x12x63 | ®125 12 | 18 | 43 28 15 30 63 4 | 138 @20 | 4
7307D667F 160x16x80  ®160 ®16 20 & 50 & ®32 15 32 80 5 | 183  ®22 4
7307D877F 200x18x80 | ®200 D18 25 | 55 | ®36 15 34 80 6 | 208 @25 4
SK7307LiHAiEMF Long insert inner corrugated handwheels
b B L

FanY
N4

SN\

|

T

’d_‘
S

d1

H: BESTRAENER . BEesBINERL R
Material: Duroplast, Black oxidation treatment steel hub
iE. B SK7011 mJ3rFi% Match SK7011 fold—down handles
“FT MG . TR PLRSAIRET “FT with annex washers, carbon steel flat keys, counter sunk screw

X5 Code #4& Description D d h H D1 H1 d1 B L b t h2
73070345 100x12x50 P100 | P12 33 52 D25 12 M5 26 50 4 13.8 4
73070446 125x12x63 D125 | P12 35 56 P28 15 M5 30 63 4 13.8 4
7307L667 160x16x80 D160 | P16 38 62 P32 15 M6 32 80 5 18.3 4
7307L877 200x18x80 ®200 | P18 43 66 D36 15 M8 34 80 6 20.8 4

m 20250331 www.sankg.com



SANKQ

SK795043 E#H Indexing plungers

SS: REEMIA R

ANE! Type

R

Stainless steel

I1

I3

REHRT

Indexing plungers

l2

1

|d|
d

U

HHENG (B%5)
With rest position
(Self locking)

APZ! Type
R1 D
A
PVCERE
Plastic sleeve
PEIRE
Locking nut

7

AN: REER, REERZE Without locking nut, without plastic sleeve
AP: 28, #¥8RIE Without locking nut, with plastic sleeve
AKN: IR, FHERE With locking nut, without plastic sleeve
AKP: #1288, HEBHEIE With locking nut, with plastic sleeve

MR B SUS303 RERIIER. R85, SUS304 UieE, BEERIEFE, WHFIRY
Material: Black carbon steel or SUS303 main body,nut and pin. SUS304 spring.Black plastic sleeve.Fine thread

XS Code ##& Description R d d1 I1 D l2+1.5 I3 R1 Load/N
7950453 ] M10x1.0-4 x6 21 M10x1.0 P4 6 @10 19 12.5 - 7~20
7950454 [] M10x1.0-5x6 21 M10x1.0 P5 6 @10 19 12.5 - 7~20
7950455 1 M10x1.0-6 x6 21 M10x%1.0 D6 6 @10 19 12.5 - 7~20
7950564 1 M12x1.5-5%x8 26 M12x 1.5 P5 8 D12 26 13 32 9~21
7950565 [ M12x1.5-6%x8 26 M12x 1.5 D6 8 D12 26 13 32 9~21
7950567 (1 M12x1.56-8%x8 26 M12x 1.5 D8 8 D12 26 13 32 9~21
7950785 [ M16 x1.5-6 %10 32 M16x%x1.5 D6 10 D16 30 16 42 12~32
7950787 (I M16 x1.56-8 %10 32 M16x1.5 8 10 D16 30 16 42 12~32
7950788 [J M16 x1.5-10x 10 32 M16x1.5 10 10 D16 30 16 42 12~32
7950897 [J M20 x 1.5-8x12 37 M20x1.5 8 12 20 36 21 52 21~58
7950898 [J M20x1.5-10%x12 37 M20x 1.5 »10 12 P20 36 21 52 21~58
7950899 [ M20x 1.5-12%x12 37 M20x 1.5 D12 12 P20 36 21 52 21~58
795058453 [ M10%x1.0-4 x6 21 M10x 1.0 D4 6 ®10 19 12.5 - 7~20
7950558454 [ M10%x1.0-5%6 21 M10x1.0 d5 6 D10 19 12.5 - 7~20
7950SS455 [ M10x1.0-6x6 21 M10x1.0 P6 6 D10 19 12.5 - 7~20
7950SS564 [ M12x1.5-5x8 26 M12x1.5 d5 8 D12 26 13 32 9~21
7950SS565 [ M12x1.5-6x8 26 M12x1.5 D6 8 D12 26 13 32 9~21
7950SS567 [ M12x1.5-8%x8 26 M12x1.5 OF] 8 D12 26 13 32 9~21
7950SS785 [ M16x1.5-6x 10 32 M16x 1.5 D6 10 D16 30 16 42 12~32
7950SS787 O M16x1.5-8x10 32 M16x 1.5 D8 10 P16 30 16 42 12~32
7950SS788 [ M16x1.5-10%x 10 32 M16x 1.5 @10 10 D16 30 16 42 12~32
7950SS897 O M20 x1.56-8%x12 37 M20x 1.5 8 12 20 36 21 52 21~58
7950SS898 [ M20x1.56-10x 12 37 M20x 1.5 ®10 12 D20 36 21 52 21~58
7950SS899 [ M20 x1.5-12x 12 37 M20x 1.5 D12 12 20 36 21 52 21~58

www.sankg.com

20250331 (X



REHRT

Indexing plungers SAN KQ
SK7960% E$H(HE) Indexing plungers (Self resetting)
AZ! Type AKZE! Type
D \
T
| HATIRES
| Execution
3 AIF
O . - |
A NEHIRIRE : -
Without locking nut N %
AK: HfiZ IR BR
With locking nut g BEI2G 3
= ! Locking nut
SS: REMI R fdf¢ A
Stainless steel d Pin retracted state
W REICRERIEH, BEmiNg SUS303 BFEAR., 12855, SUS304 BU3REE, IR
Material: Polyamide resin knob. Black carbon steel or SUS303 main body, nut and pin. SUS304 spring. Fine thread
X5 Code ##& Description D d d1 1 L l2 I3 l4 Load/N
7960454 [ M10x1.0-5%5 D21 M10x1.0 D5 5 45 17 5 15 7~17
7960565 [ M12x1.5-6x6 25 M12x 1.5 D6 6 54.5 20 6 17 9~24
7960787 [ M16x1.5-8x 8 D31 M16x 1.5 8 8 69 26 8 23 11~30
7960799 [J M20x1.5-10x 10 D31 M20 x 1.5 10 10 80 33 10 30 45~100
7960SS454 [ M10x1.0-5%x5 D21 M10x1.0 5 5 45 17 5 15 7~17
7960SS565 [ M12x1.5-6x6 25 M12x 1.5 D6 6 54.5 20 6 17 9~24
7960SS787 O M16x1.5-8x 8 D31 M16x 1.5 8 8 69 26 8 23 11~30
7960SS799 [ M20x1.5-10x 10 D31 M20 x 1.5 10 10 80 33 10 30 45~100
SK7960L % E#(B4Hi) Indexing plungers (Self locking)
AB T ype AKZ Type
D
_ i -
|
| HTIES
! NG Execution
D a reszes L =l
E Without locking nut ‘
AK: THEIRIZE o ;
With locking nut ;75 BRIRE
= c‘b Locking nut \
~d1= %éﬁ@%?}
d Pin retracted state

WL BEIRERRIEH, BEmkiNk SUS303 B9EK., 12851, SUS304 HIsEE, IR
Material: Polyamide resin knob. Black carbon steel or SUS303 main body, nut and pin. SUS304 spring. Fine thread

X5 Code ##% Description D d d1 1 L l2 I3 l4 Load/N
7960L454 M10x1.0-5x5 D21 M10x1.0 d5 5 51 17 5 15 7~17
7960L565 [ M12x1.5-6 x6 D25 M12x1.5 D6 6 61 20 6 17 9~24
7960L787 M16x1.5-8x7 D31 M16x 1.5 P8 7 75.5 26 8 23 11~30
7960L799 O M20x1.5-10%x10 D31 M20x 1.5 P10 10 91 33 10 30 45~100

7960LSS454 ] M10x1.0-5%5 D21 M10x%x 1.0 d5 5 51 17 5 15 7~17
7960LSS565 [ M12%x1.5-6%6 D25 M12x1.5 D6 6 61 20 6 17 9~24
7960LSS787 [ M16x1.5-8x7 P31 M16x 1.5 P8 7 75.5 26 8 23 11~30
7960LSS799 ] M20x 1.5-10%10 P31 M20x 1.5 ®10 10 91 33 10 30 45~100

m 20250331 www.sankg.com



SANKQ HEHES

Indexing plungers

SK79614EiH(BE) Indexing plungers (Self resetting)

AZ! Type AKZ Type
D
TTTTTTTITIIITT N—————
- HATIRES
Execution
7 : A/F
m (Y
A THEGRIEE el
Without locking nut 1 e
AK: IR IEE o %j K
With locking nut |
£ = } fing 44
SS: AEWM R ] d4 Lofék%n%anut 3\ e e
Stainless steel d b BEERES
in retracted state

H BELRERRNEH, EERNE SUS303 AENEER. 1R, 8, SUS304 RUsHEs, IR
Material: Polyamide resin knob. Zinc plated carbon steel or SUS303 main body,nut,pin,spring. Coarse thread.

X5 Code ##& Description D d d1 I1 L l2 I3 e l4 Load/N
7961133 M6 x1.0-4 x4 P12 M6 x 1.0 P4 4 30.5 12 4.5 6.9 10 3~12
7961244 1 M8 x1.25-5%x5 D16 M8 x 1.25 d5 5 40 16 6 9.2 13.5 5~24
7961355 M10x1.5-6%6 »18 M10x 1.5 d6 6 49 20 7.5 11.5 17 5~21
7961467 1 M12x1.75-8x 8 d21 | M12x1.75 P8 8 59 24 9 13.8 20.5 6~22
7961SS133 [0 M6 x1.0-4x4 P12 M6 x 1.0 P4 4 30.5 12 4.5 6.9 10 3~12
7961SS244 M8 x1.25-5x5 P16 M8 x 1.25 d5 5 40 16 6 9.2 13.5 5~24
7961SS355 [ M10x1.5-6x6 »18 M10x1.5 d6 6 49 20 7.5 11.5 17 5~21
7961SS467 [ M12x1.75-8x 8 d21 | M12x1.75 P8 8 59 24 9 13.8 20.5 6~22
SK7961L 4% [E ¢ (B%i) Indexing plungers (Self locking)
AZ Type AKE Type
D
‘ ——
1 WATRES
! S Execution
D o ! \\
A TSRS . 1
Without locking nut L]
AK: EIRIZE AT /‘%ﬁ) =
With locking nut 4+ 1B '
= L BrEg N
SS: FHERTE Harh Locking nut ~ smELikas
Stainless steel d Pin retracted state

MH: BelRERRNEH, BN SUS303 AEIMEEIR. 1RE. 8§, SUS304 AUsHEs, IR
Material: Polyamide resin knob. Zinc plated carbon steel or SUS303 main body,nut,pin,spring. Coarse thread.

X5 Code ##& Description D d d1 1 L l2 I3 S I4 Load/N
7961133 O M6 x1.0-4 x4 12 | M6x%1.0 D4 4 33 12 7 6 10 3~12
79611244 1 M8 x1.25-5%x5 P16 | M8x1.25 d5 5 43.5 16 9.5 8 13.5 5~24
79611355 J M10x1.5-6x6 ®18 | M10x1.5 D6 6 52 20 10.5 10 17 5~21
7961L467 O M12x1.75-8x8 | P21 M12x1.75| P8 8 63.5 24 13.5 12 20.5 6~22

7961LSS133 O M6x1.0-4x4 12 | M6x%x1.0 P4 4 33 12 7 6 10 3~12
7961L.SS244 O M8 x1.25-5%x5 P16 | M8x1.25 d5 5 43.5 16 9.5 8 13.5 5~24
7961LSS355 [ M10x 1.5-6%6 P18 | M10x1.5 6 6 52 20 10.5 10 17 5~21
7961L.SS467 O M12x1.75-8x8 | P21 M12x1.75| P8 8 63.5 24 13.5 12 20.5 6~22

www.sankg.com 20250331 m



REHRT

Indexing plungers

Er do

Ld1] BLgREIRTS

THHENE (BE)
Plunger pin retracted
Q/ R\ Without rest position
+

(Self resetting)

;,\
b

SS: BN RAVE A
Stainless steel pin B4

7 REIERERGIEH, TAMZ=HERFENFSS, BEKRINGE SUS303 195, SUS304 RIFEE.
Material: Polyamide resin knob, Main body and flange blue zinc plated zinc alloy , Black carbon steel or SUS303 pin, SUS304 spring.

X5 Code HI#E Description D A d1 1 B1 B2 lo l2 I3 L do d2 ds
7981535 30-6x14 P25 30 P6 14 40 18 6 2.5 4.5 45 P10 | 4.3 | P8.3
7981747 34-8x18 D31 34 P8 18 46 20 8 2.5 4.5 54 P12 | 5.3 P10.4

79815S535 30-6x14 D25 30 D6 14 40 18 6 2.5 4.5 45 D10 | P4.3 | P8.3

7981SS747 34-8%x18 D31 34 P8 18 46 20 8 2.5 4.5 54 P12 | P53 P10.4

SK7981LikEH iE=E S Ef#(B4i) Long pin indexing plungers with flange (Self locking)

D
T
L
90°
d3
- ——
i
I
o : Loz
- er do
a LIRS

HHENE (B8t)
Plunger pin retracted
fm With rest position
C + (Self locking)

D @
QMV
SS: TS

Stainless steel pin A

7 REICRBIEH, TIRY, FHRMZE=PERFNFSS, BEmRNGE SUS303 1%, SUS304 rIsEE.
Material: Polyamide resin knob, Main body and flange blue zinc plated zinc alloy, Black carbon steel or SUS303 pin, SUS304 spring

XS Code | #l#& Description| D A d1 I1 B1 B2 lo l2 I3 L do d2 ds

7981L535 30-6x 14 D25 30 D6 14 40 18 6 2.5 4.5 45 P10 | P4.3 | P83

7981L747 34-8x18 P31 34 P8 18 46 20 8 2.5 4.5 54 P12 | P53 | P10.4

7981LSS535 30-6x14 25 30 D6 14 40 18 6 2.5 4.5 45 D10 | P4.3 | P83

7981LSS747 34-8x18 D31 34 8 18 46 20 8 2.5 4.5 54 P12 | P53 | P10.4

m 20250331 www.sankg.com



REHRT

SANKQ

Indexing plungers

SK7982iEiH#F i =ES EiH(BE) Short pin indexing plungers with flange (Self resetting)

o —
NE e e |
|d1 HAAEEIRS

THHENE (BE)
Plunger pin retracted

Without rest position
m (Self resetting)
NAAY

SS: REEWMRE
Stainless steel pin

17
N
4
N
V7
&
B2

7% BEIEREEIEH, TARMEAZAEEFENESS, BOKRINE SUS303 195, SUS304 rYsEE,
Material: Polyamide resin knob, Main body and flange blue zinc plated zinc alloy , Black carbon steel or SUS303 pin, SUS304 spring.

= Code #AE Description D A d1 1 B1 B2 L l2 I3 do d2 ds
7982535 30-6%x6 D25 30 D6 6 40 18 37 2.5 4.5 P10 | P4.3 | P8.3
7982747 34-8x8 D31 34 OF 8 46 20 44 2.5 4.5 P12 | P53 | P10.4

7982SS535 30-6x%x6 P25 30 D6 6 40 18 37 2.5 4.5 P10 | P4.3 | P8.3

798255747 34-8x8 P31 34 »8 8 46 20 44 2.5 4.5 ®12 | 5.3 | 104

SK7982LEi=E S Ei#(B4) Short pin indexing plungers with flange (Self locking)

13

12
_I_1_‘
&=

d1

wHENE (B8)
Plunger pin retracted

With Rest Position
ﬁ/ (Self locking)
i N)

)
g
AN
B2

SS: EEMMRAE
Stainless steel pin

B1

7 BEICRERRIEH, TIRY, THRMZEZ=HEEFNFES, BEKRINGE SUS303 M5, SUS304 AYEE.
Material: Polyamide resin knob, Main body and flange blue zinc plated zinc alloy, Black carbon steel or SUS303 pin, SUS304 spring

S Code | #l#& Description| D A d1 I1 B1 B2 L l2 I3 do d2 ds

79821535 30-6x6 P25 30 D6 6 40 18 37 2.5 4.5 D10 | P4.3 | P8.3

7982L747 34-8x8 D31 34 P8 8 46 20 44 2.5 4.5 P12 | P53  P10.4
7982L.SS535 30-6x%x6 P25 30 D6 6 40 18 37 2.5 4.5 P10 | P4.3 | P8.3
7982LSS747 34-8x8 D31 34 OF) 8 46 20 44 2.5 4.5 P12 | P53  P10.4

www.sankg.com 20250331 m



REHRT SANKQ

Indexing plungers

SK7970L&BIBF S EiE(E%i) Metal knob indexing plungers (Self locking)

SS: REERAIER Stainless steel
HHENIE (B8) With rest position (Self locking)

2
4%

Ao o818 d o

(=]

<7 I N I —— =

3
710.25
]
2 . 10
20

2} BRNEEIR L SUS303 RENANEFE . RS, SUS304 HI3EEE, HMFIREL.
Material: Carbon steel nickel plating or SUS303 knob, Main body and pin. SUS304 spring, Fine thread.

S Code ##& Description +4& Material
7970L355 M10x1.0-6x7 BENEESRE Carbon steel nickel plating
7970LSS355 M10x1.0-6x7 SUS303

m 20250331 www.sankg.com



SANKQ

SK796243Ef# Indexing plungers

B
C
S

F AHSENM (BE ) Without rest position (Self resetting)
D TEIENM (B#i) With rest position (Self locking)
S: SUS303F A5 SUS303 main body and pin

BE! Type

HLAEEIRS
Plunger pin
retracted

. BEICREIRIEH, EENDE SUS303 4K, SUS303 $#H, SUS304 g, MAFIRLK
Material: Polyamide resin knob,Galvanized carbon steel or SUS303 main body, SUS303 pin, SUS304 spring, Fine thread

CE Typ

REHRT

Indexing plungers

e

(IEFHEHE30°

Knob rotated by 30° )

LA RIS

Plunger pin
retracted

RETER
Assembly instruction

T 1 !
¥

Lid

YEZRF
Locking nut

[
foa N AR FRIN BRI E
(INFEH LA T 48 el E LE AT AT ID )
Hexagonal flats for

fork spanner

(only visible when plunger

is in retracted position)

f£= Code ##& Description D d d1(h9) 1 l2(min.) L d2 Load/N
7962B443 M8x1.0-4 x5 D21 M8x1.0 P4 5 6 27.5 15 4~12
7962B554 M10x1.0-5%6 P25 M10x1.0 P5 6 8 34 18 6~16
7962B555 M10x 1.0-6 %6 P25 M10x 1.0 D6 6 8 34 18 6~16
7962B665 M12x1.5-6x7 D28 M12x1.5 D6 7 10 40.5 20 10~23
7962B666 M12x1.5-7x7 D28 M12x1.5 7 7 10 40.5 20 10~23
7962B887 M16x1.5-8x10 d33 M16x 1.5 P8 10 12 47.5 23 11~35
7962B889 M16x1.5-10x% 10 P33 M16x 1.5 ®10 10 12 47.5 23 11~35
7962C443 M8x1.0-4%x5 P21 M8x1.0 P4 5 6 27.5 15 4~12
7962C554 M10%x1.0-5%6 D25 M10x 1.0 d5 6 8 34 18 6~16
7962C555 M10x1.0-6 x6 P25 M10x1.0 D6 6 8 34 18 6~16
7962C665 M12x1.5-6x7 D28 M12x1.5 D6 7 10 40.5 20 10~23
7962C666 M12x1.5-7%x7 D28 M12x1.5 7 7 10 40.5 20 10~23
7962C887 M16 x1.5-8x10 P33 M16x 1.5 (OF] 10 12 47.5 23 11~35
7962C889 M16 % 1.5-10% 10 P33 M16x 1.5 ®10 10 12 47.5 23 11~35
7962SSB443 M8x1.0-4x5 D21 M8x1.0 D4 5 6 27.5 15 4~12
7962SSB554 M10x1.0-5%x6 P25 M10x1.0 d5 6 8 34 18 6~16
7962SSB555 M10x1.0-6x6 P25 M10x1.0 D6 6 8 34 18 6~16
7962SSB665 M12x1.5-6x7 P28 M12x1.5 D6 7 10 40.5 20 10~23
7962SSB666 M12x1.5-7x7 $28 M12x1.5 7 7 10 40.5 20 10~23
7962SSB887 M16 % 1.5-8 % 10 P33 M16x 1.5 P8 10 12 47.5 23 11~35
7962SSB889 M16 % 1.5-10% 10 D33 M16x 1.5 D10 10 12 47.5 23 11~35
7962SSC443 M8x1.0-4 x5 D21 M8x 1.0 P4 5 6 27.5 15 4~12
7962SSC554 M10x1.0-5%x6 P25 M10x1.0 d5 6 8 34 18 6~16
7962SSC555 M10x1.0-6x6 D25 M10x1.0 D6 6 8 34 18 6~16
7962SSC665 M12x1.5-6x7 $28 M12x1.5 P6 7 10 40.5 20 10~23
7962SSC666 M12x1.5-7%x7 d28 M12x1.5 7 7 10 40.5 20 10~23
7962SSC887 M16 x 1.5-8 % 10 »33 M16x 1.5 OF] 10 12 47.5 23 11~35
7962SSC889 M16x1.5-10x 10 P33 M16x 1.5 »10 10 12 47.5 23 11~35

www.sankg.com

20250331 @44



REHRT

Indexing plungers

SK7971 K F R 92 EfE Long indexing plungers

O
A NriRIEE
Without locking nut
AK: TR IRE
With locking nut

SS: RN R
Stainless steel

k. FEEERRINEE SUS303 1R, 126, 5. HIIR, SUS304 3§, MHEFIELN
Material: Zinc plated carbon steel or SUS303 main body,nut,pin,pull ring. SUS304 spring,Coarse thread.

X5 Code ##& Description D d d1 1 I2 I3 la L e AIF
79711320 M6 x1.0-3x3.5 14 M6 x 1.0 D3 3.5 12 4.5 10 34 6.9 6
7971133 M6 x1.0-4 x4 14 M6 x 1.0 D4 4 12 4.5 10 34.5 6.9 6
7971244 M8 x 1.25-5%x 5 18 M8 x 1.25 P5 5 16 6 13.5 45 9.2 8
7971355 M10x1.5-6 x6 24 M10x1.5 6 6 20 7.5 17 57.5 11.5 10
7971767 O M12x1.75-8x 8 30 M12x1.75 8 8 24 9 20.5 71 13.8 12
7971787 O M16 x1.5-8x 10 30 M16x 1.5 8 10 26 10 24 76 19.6 17
7971789 O M16x1.5-10x10 | 30 M16x 1.5 ®10 10 26 10 24 76 19.6 17
797188132 0 M6 x1.0-3x3.5 14 M6 x 1.0 P3 3.5 12 4.5 10 34 6.9 6
7971SS133 0 M6 x1.0-4 x4 14 M6 x 1.0 D4 4 12 4.5 10 34.5 6.9 6
7971SS244 0 M8 x 1.25-5x5 18 M8 x 1.25 5 5 16 6 13.5 45 9.2 8
7971SS355 0 M10x1.5-6 x6 24 M10x 1.5 D6 6 20 7.5 17 57.5 11.5 10
7971SS767 O M12x1.75-8x 8 30 M12x1.75 P8 8 24 9 20.5 71 13.8 12
7971SS787 O M16 x1.5-8x 10 30 M16x 1.5 P8 10 26 10 24 76 19.6 17
7971SS789 M16x1.5-10x10 | 30 M16x1.5 10 10 26 10 24 76 19.6 17
SK79728EFHH 2 EfE Short indexing plungers
2 rmazes
E Without locking nut
AK: IR RE
With locking nut .
SS: TERM R ,&ﬁ_]
Stainless steel
M JEEERRINEE SUS303 AEEINBIER. 1R, 5. fuPk, SUS304 RU3eEs, HFFIRN
Material: Zinc plated carbon steel or SUS303 main body,nut,pin,pull ring. SUS304 spring,Coarse thread.
XS Code ##& Description D d d1 1 I2 I3 I4 L e AIF
79722331 M6 x1.0-4x4.5 18 M6 x 1.0 D4 4.5 8 3 8 335 6.9 6
7972244 ] M8x 1.25-5%5.5 18 M8 x 1.25 d5 5.5 9 4 9 36.5 9.2 8
7972355 M10x1.5-6x7 24 M10%x1.5 6 7 11 5 9 47 11.5 10
7972467 [ M12x1.75-8x9 26 M12x1.75 P8 9 14 7 11 56 13.8 12
7972789 [ M16x2.0-10x11 | 30 M16 x 2.0 10 11 18 7 15 66 19.6 17
7972S8S233 [ M6x1.0-4x5 18 M6 x 1.0 D4 5 8 3 8 34 6.9 6
797258244 1 M8 x 1.25-5x 6 18 M8 x 1.25 5 6 9 4 9 37 9.2 8
7972SS355 [ M10x1.5-6x7 24 M10x 1.5 6 7 11 5 9 47 11.5 10
797258467 O M12x1.75-8x10 | 26 M12x1.75 P8 10 14 7 11 57 13.8 12
7972SS789 O M16x2.0-10x11 | 30 M16 x 2.0 10 11 18 7 15 66 19.6 17

EX) 20250331

www.sankg.com



SANKQ MRS

Leveling feet

SK7508kFEi@T k] leveling feet

d d
= mB. Z&KH Black TPR feet | :
mO. EBERHE Orange TPR feet [ [] ] [ [] ]

RIS
Fixing holes

d1x2
Fe?’(%ad 3 * 3 .
—
D \ D
FRE (60,80) BR%ERL (100,120,150)
Without fixing holes With fixing holes
MER: BEWAREE., BT, 188, TPR#MROKRE
Material: Carbon steel base,Thread and nut. TPR feet pad

XS Code ##& Description D d I(-5mm) H d1
75083110 50 x M8 x 50 P50 M8 50 32 -
7508314 50 x M8 x 100 P50 M8 100 32 -
7508321 50xM10 x50 @50 M10 50 34 -
7508323 [ 50xM10x 80 ®50 M10 80 34 -
7508324 [ 50 xM10x 100 @50 M10 100 34 -
7508331 50 x M12 x 50 P50 M12 50 34 -
7508334 [ 50xM12x 100 P50 M12 100 34 -
7508421 60 xM10 x50 @60 M10 50 34 -
7508424 [ 60xM10x 100 @60 M10 100 34 -
75084310 60 xM12 x50 @60 M12 50 35 -
7508433 [ 60 xM12 % 80 @60 M12 80 35 -
7508434 [ 60xM12x 100 ®60 M12 100 35 -
7508436 [ 60xM12x 150 ®60 M12 150 35 -
7508454 [ 60 xM16 x 100 ®60 M16 100 37 -
7508456 [ 60 xM16 x 150 ®60 M16 150 37 -
7508457 60 x M16 x 200 ®60 M16 200 37 -
7508459 [ 60 x M16 x 300 ®60 M16 300 37 -
7508474 60 x M20 x 100 ®60 M20 100 38 -
7508534 [ 80xM12x 100 ®80 M12 100 38 -
7508536 [ 80xM12x 150 ®80 M12 150 38 -
7508554 [ 80xM16x 100 ®80 M16 100 39 -
7508555 [ 80xM16x 120 ®80 M16 120 39 -
7508556 [ 80xM16x 150 ®80 M16 150 39 -
7508557 [ 80 xM16 x 200 ®80 M16 200 39 -
7508573 [ 80 x M20 x 80 ®80 M20 80 40 -
7508574 [ 80 xM20x 100 ®80 M20 100 40 -
7508575 [ 80xM20 % 120 ®80 M20 120 40 -

www.sankg.com 20250331 m



HTRIR5

Leveling feet SAN Ka

XS Code ##& Description D d | H d1

7508576 (1 80 xM20 %150 P80 M20 150 40 -

7508577 (1 80 xM20 x 200 80 M20 200 40 -

7508584 [ 80 xM24 x 100 D80 M24 100 41 -

7508586 ] 80xM24 x 150 P80 M24 150 41 -

7508587 (1 80 xM24 x 200 P80 M24 200 41 -

7508634 [J 100 xM12 x 100 »100 M12 100 38 P12.5
7508636 [] 100xM12 x 150 ®100 M12 150 38 D12.5
7508654 (] 100 xM16 x 100 D100 M16 100 40 P12.5
7508655 [J 100 xM16 x 120 100 M16 120 40 D12.5
7508656 [] 100 x M16 x 150 ®100 M16 150 40 ®12.5
7508657 (1 100 x M16 x 200 ®100 M16 200 40 ®12.5
7508674 ] 100 x M20 x 100 100 M20 100 41 D12.5
7508675 [ 100 x M20 x 120 D100 M20 120 41 P12.5
7508676 (] 100 x M20 x 150 100 M20 150 41 D12.5
7508677 ] 100 x M20 x 200 D100 M20 200 41 d12.5
7508678 ] 100 x M20 x 250 D100 M20 250 41 P12.5
7508684 [J 100 x M24 x 100 D100 M24 100 42 P12.5
7508686 [ 100 x M24 x 150 D100 M24 150 42 D12.5
7508687 [ 100 x M24 x 200 100 M24 200 42 d12.5
7508688 [ 100 x M24 x 250 D100 M24 250 42 D12.5
7508689 [ 100 x M24 x 300 D100 M24 300 42 D12.5
7508734 120 xM12 %100 D120 M12 100 40 P13.8
7508754 1 120 x M16 x 100 D120 M16 100 42 »13.8
7508756 ] 120 x M16 x 150 ®120 M16 150 42 ®13.8
7508757 ] 120 xM16 % 200 D120 M16 200 42 P13.8
7508774 1 120 x M20 x 100 D120 M20 100 43 P13.8
7508776 ] 120 x M20 x 150 D120 M20 150 43 »13.8
7508777 J 120 x M20 x 200 D120 M20 200 43 »13.8
7508778 (1 120 x M20 x 250 D120 M20 250 43 ®13.8
7508779 120 x M20 x 300 D120 M20 300 43 ®13.8
7508784 1 120 x M24 x 100 D120 M24 100 44 ®13.8
7508786 1 120 x M24 x 150 D120 M24 150 44 »13.8
7508787 1 120 x M24 x 200 D120 M24 200 44 ®13.8
7508788 [ 120 x M24 x 250 D120 M24 250 44 P13.8
7508854 1 150 x M16 x 100 D150 M16 100 46 P14.5
7508856 [ 150 x M16 x 150 D150 M16 150 46 P14.5
7508857 ] 150 x M16 x 200 D150 M16 200 46 D14.5
7508874 (1 150 xM20 x 100 D150 M20 100 47 P14.5
7508876 1 150 x M20 x 150 D150 M20 150 47 D14.5
7508877 I 150 x M20 x 200 D150 M20 200 47 D14.5
7508884 1 150 x M24 x 100 D150 M24 100 48 d14.5
7508886 [ 150 x M24 x 150 P150 M24 150 48 D14.5
7508887 [J 150 x M24 x 200 P150 M24 200 48 P14.5

m 20250331 www.sankg.com



(ERET B

SANKQ

Leveling feet

SK7508SSAEHMKFRBH leveling feet

d d
= mB. Z&KH Black TPR feet | :
mO. EBERHE Orange TPR feet [ [] ] [ [] ]

SSIAEMI R
Stainless steel

RIS
Fixing holes

d1x2
gy : :
Feet pad : T : T
—]
D \ D
T=%7, (60,80) B=%% (100,120,150)

Without fixing holes With fixing holes

M. SUS304 MIIEEE. 124F. 128, TPR HRAIKRE
Material: SUS304 base, Thread and nut. TPR feet pad

XS Code ##& Description D d I(-5mm) H d1
7508SS311 0 50 x M8 x 50 D50 M8 50 32 -
7508SS314 0 50xM8x 100 D50 M8 100 32 -
750858321 0 50xM10 x50 D50 M10 50 34 -
750855323 ] 50xM10x 80 D50 M10 80 34 -
750855324 [ 50 xM10 %100 D50 M10 100 34 -
7508SS331 0 50 x M12 x 50 D50 M12 50 34 -
750855334 [ 50xM12x 100 D50 M12 100 34 -
7508558421 0 60 xM10 x50 D60 M10 50 34 -
750855424 60 xM10 %100 D60 M10 100 34 -
7508554310 60xM12 x50 D60 M12 50 35 -
750855433 0 60xM12x 80 D60 M12 80 35 -
750855434 O 60xM12x 100 D60 M12 100 35 -
750855436 [ 60xM12x 150 D60 M12 150 35 -
7508558454 O 60xM16 x 100 P60 M16 100 37 -
750855456 [J 60xM16 x 150 P60 M16 150 37 -
7508SS457 O 60 x M16 x 200 P60 M16 200 37 -
750858459 [ 60 xM16 x 300 P60 M16 300 37 -
750858474 0 60 xM20 x 100 P60 M20 100 38 -
7508SS534 [] 80xM12x100 D80 M12 100 38 -
7508SS536 [ 80xM12x 150 D80 M12 150 38 -
750855554 [ 80xM16 %100 D80 M16 100 39 -
7508SS555 [ 80xM16x120 D80 M16 120 39 -
7508SS556 [ 80xM16 x 150 D80 M16 150 39 -
7508SS557 [ 80 xM16 x 200 D80 M16 200 39 -
7508SS573 80 xM20x 80 D80 M20 80 40 -
7508SS574 [ 80 xM20x 100 80 M20 100 40 -
7508SS575 0 80xM20x 120 D80 M20 120 40 -

www.sankg.com

20250331 ([EXD)



HTRIR5

Leveling feet SAN Ka
XS Code ##& Description D d | H d1
7508SS576 O 80 xM20 %150 80 M20 150 40 -
7508SS577 0 80 x M20 x 200 80 M20 200 40 -
750855584 [ 80xM24 x100 D80 M24 100 41 -
7508SS586 [ 80 xM24 x 150 P80 M24 150 41 -
7508SS587 [ 80 xM24 x 200 @80 M24 200 41 -
750855634 [ 100 xM12 %100 »100 M12 100 38 »12.5
750855636 [ 100xM12 %150 »100 M12 150 38 D12.5
7508SS654 [ 100 x M16 x 100 @100 M16 100 40 P12.5
750855655 [ 100 xM16 x 120 100 M16 120 40 P12.5
750855656 [ 100 x M16 x 150 ®100 M16 150 40 P12.5
7508SS657 [ 100 x M16 x 200 ®100 M16 200 40 D12.5
7508558674 [ 100 x M20 x 100 100 M20 100 41 D12.5
7508SS675 [ 100 x M20 x 120 D100 M20 120 41 P12.5
7508SS676 [ 100 x M20 x 150 ®100 M20 150 41 ®12.5
7508SS677 [ 100 x M20 x 200 100 M20 200 41 d12.5
7508S5S678 [ 100 x M20 x 250 D100 M20 250 41 D12.5
750855684 [ 100 x M24 x 100 100 M24 100 42 P12.5
750855686 [ 100 x M24 x 150 100 M24 150 42 ®12.5
7508SS687 [ 100 x M24 x 200 ®100 M24 200 42 ®12.5
750855688 [ 100 x M24 x 250 100 M24 250 42 ®12.5
7508SS689 [ 100 x M24 x 300 100 M24 300 42 P12.5
7508SS734 1 120 xM12 x 100 120 M12 100 40 D13.8
7508SS754 [ 120 x M16 x 100 120 M16 100 42 ®13.8
7508SS756 [ 120 x M16 x 150 D120 M16 150 42 ®13.8
7508SS757 O 120 xM16 % 200 120 M16 200 42 D13.8
7508SS774 120 x M20 x 100 @120 M20 100 43 D13.8
7508SS776 120 x M20 x 150 120 M20 150 43 ®13.8
7508SS777 [ 120 x M20 x 200 120 M20 200 43 P13.8
7508SS778 ] 120 x M20 x 250 D120 M20 250 43 ®13.8
7508SS779 O 120 x M20 x 300 @120 M20 300 43 ®13.8
7508SS784 [ 120 x M24 x 100 120 M24 100 44 ®13.8
7508SS786 [ 120 x M24 x 150 120 M24 150 44 ®13.8
7508SS787 [ 120 x M24 x 200 D120 M24 200 44 ®13.8
7508SS788 I 120 x M24 x 250 @120 M24 250 44 D13.8
750855854 [ 150 x M16 x 100 P150 M16 100 46 D14.5
7508SS856 [ 150 x M16 x 150 P150 M16 150 46 D14.5
7508SS857 [ 150 x M16 x 200 P150 M16 200 46 D14.5
7508SS874 [J 150 x M20 x 100 P150 M20 100 47 D14.5
750858876 150 x M20 x 150 @150 M20 150 47 D14.5
7508SS877 0 150 x M20 x 200 ®150 M20 200 47 D14.5
750855884 [ 150 x M24 x 100 P150 M24 100 48 P14.5
750855886 [ 150 x M24 x 150 P150 M24 150 48 D14.5
7508SS887 I 150 x M24 x 200 ®150 M24 200 48 D14.5

E2 20250331

www.sankg.com



FRR5

Handles series

SK7002:/1F+## Little handles

M BESNRENER IR, BEaERRREH
Material: Thermoplastic body, Black oxidation treatment steel shaft

XS Code ##& Description L d | D
7002033 25xM6x10 25 M6 10 P13
7002133 32xM6x12 32 M6 12 »15
7002233 40xM6 % 14 40 M6 14 D17

SK7005%zhF# Revolving handles

L
H: BeLRERFRE. BEaERRREH
Material: Matte polyamide resin body, Black oxidation treatment steel shaft

X5 Code ##& Description L d | D
7005334 50 x M6 x 12 50 M6 12 P21
7005444 63xM8x12 63 M8 12 23
7005556 80xM10x%x14 80 M10 14 25
7005666 100xM12x 14 100 M12 14 27

SK7006%£zhF4#k Revolving handles

L
H. BESAARNENFERE. RS IBRRERREH
Material: Duroplast body, Black oxidation treatment steel shaft

X5 Code ##% Description L d | D
7006334 50 x M6 x 12 50 M6 12 D22
7006444 63xM8x12 63 M8 12 24
7006556 80xM10x%x14 80 M10 14 27
7006666 100 xM12x 14 100 M12 14 28

ED 20250331

www.sankg.com



FRR5

Handles series SAN KQ
SK70107]#7F#% Fold—down handles
D
M BETNEBRFRE. BESHGCEMREFIRL S
Material: Matte polyamide resin body, Black oxide treatment steel handle head and shaft
“P” tNEFRIOEMESZE, TLLES indicates the torque pin structure, can be customized
“F7 S SNTLASAEIRET d1 x| with annex alloy steel HEX countersunk head screw d1 x|
X5 Code ##& Description L d H D A d2 h2 d1 |
7010P344F 50x16 50 P16 15 D21 5 P2 3 M4 10
7010P444F 63x16 63 P16 15 ®23 5 D2 3 M4 10
7010P466F 63x20 63 20 20 $23 5 d2 3 M6 16
7010P566F 80x20 80 20 20 d25 5 d2 3 M6 16
7010P666F 100x 20 100 20 20 27 5 d2 3 M6 20
SK7010SSAEMaHTFH Stainless steel fold—down handles
D
R BEIREIRFRIA. SUS303 RENFRLSiEM
Material: Matte polyamide resin body, SUS303 handle head and shaft
“P” WNEFFRIVEMESH, ATLLES indicates the torque pin structure, can be customized
“F” HEHHEE ENT LA MEIRET d1 x| with annex alloy steel HEX countersunk head screw d1 x|
X5 Code ##& Description L d H D A d2 h2 d1 I
7010SSP344F 50x16 50 D16 15 P21 5 d2 3 M4 10
7010SSP444F 63x16 63 D16 15 $23 5 d2 3 M4 10
7010SSP466F 63 %20 63 P20 20 »23 5 D2 3 M6 16
7010SSP566F 80 x20 80 P20 20 »25 5 D2 3 M6 16
7010SSP666F 100% 20 100 P20 20 D27 5 D2 3 M6 20

m 20250331 www.sankg.com



FRR5!

SANKQ

Handles series

SK70119]#rF#% Fold—down handles

XXX

0:0-0T0%0% 5
R sTeToToTeTeTe g S0 0

2>

77

R BERNAENERFRER. BEaHCERNEFRLSEMH
Material: Duroplast body, Black oxide treatment steel handle head and shaft
“P” WNEFFRINEMESH, ATLLES indicates the torque pin structure, can be customized
“FY IS SR L A/ EIZET d1 x| with annex alloy steel HEX countersunk head screw d1 x |

£5 Code ##& Description L d H D A d2 h2 d1 |
7011P344F 50%16 50 P16 15 P22 5 D2 3 M4 10
7011P444F 63x16 63 P16 15 D24 5 D2 3 M4 10
7011P466F 63x20 63 P20 20 D24 5 D2 3 M6 16
7011P566F 80x%20 80 P20 20 D27 5 D2 3 M6 16
7011P666F 100 x 20 100 P20 20 D28 5 D2 3 M6 20

SK7011SSAENAIIFFHE Stainless steel fold—-down handles

E ZERREMNERFERKR, SUS303 RMENFLSHEMH
Material: Duroplast body, SUS303 handle head and shaft
“P” tNEFFRASEMEEN, TLLES indicates the torque pin structure, can be customized
“F” EHHE-S SRTL R/ AIZET d1 x | with annex alloy steel HEX countersunk head screw d1 x|

X5 Code ##& Description L d H D A d2 h2 d1 I
7011SSP344F 50%16 50 P16 15 P22 5 D2 3 M4 10
7011SSP444F 63x16 63 P16 15 D24 5 P2 3 M4 10
7011SSP466F 63 %20 63 P20 20 D24 5 D2 3 M6 16
7011SSP566F 80x%20 80 P20 20 D27 5 D2 3 M6 16
7011SSP666F 100 x 20 100 P20 20 D28 5 D2 3 M6 20

www.sankg.com

20250331 [P



FRR5

Handles series SANKQ
SK7012di@F# Adjustable handles
B Color: [ AR Type Bz Type
B: W 2EBlack ) R ‘ R

O: m %&O0range

== e

\ !
d
o _
.
d
. REREFaSFRE. ReaEBENNEEESIRGT
Material: Zinc alloy handle body, Black oxide treatment steel sliding sleeve and screw D
iE: TEMEAMRRTHRIBE The sliding sleeve can be customized in nonstandard sizes
X5 Code ##& Description R d | h H D1
701232001 50 x AM5 50 M5 9 35 9.8
70123210 50xM5x 16 50 M5 16 35 9.8
7012322 1 50 x M5 x 20 50 M5 20 35 9.8
70123230 50 x M5 x 25 50 M5 25 35 9.8
7012330 O 50 x AM6 50 M6 9 35 9.8
70123310 50 x M6 x 16 50 M6 16 35 9.8
70123320 50 x M6 x 20 50 M6 20 35 9.8
70123330 50 x M6 x 25 50 M6 25 35 9.8
7012440 O 63 x AM8 63 M8 12 44 »12.9
7012442 01 63 xM8x 20 63 M8 20 44 ®12.9
7012443 1 63 xM8x 25 63 M8 25 44 »12.9
7012444 63 x M8 x 32 63 M8 32 44 ®12.9
7012446 63 xM8 x40 63 M8 40 44 ®12.9
7012447 O 63xM8 x50 63 M8 50 44 »12.9
7012550 O 80 x AM10 80 M10 15 54 »16.1
7012552 1 80xM10x20 80 M10 20 54 D16.1
7012553 0 80xM10x25 80 M10 25 54 D16.1
7012554 O 80xM10x%32 80 M10 32 54 »16.1
7012556 [ 80xM10x40 80 M10 40 54 D16.1
7012557 O 80 xM10 x50 80 M10 50 54 D16.1
7012660 O 95 x AM12 95 M12 17 61 ®19.2
7012663 [ 95xM12x 25 95 M12 25 61 ®19.2
7012664 O 95xM12x 32 95 M12 32 61 ®19.2
7012666 [ 95xM12 x40 95 M12 40 61 ®19.2
7012667 [ 95xM12 x50 95 M12 50 61 ®19.2
7012668 [J 95xM12 %63 95 M12 63 61 ®19.2
7012880 [J 114 x AM16 114 M16 20 69 ®22.3
7012886 [ 114 xM16 x 40 114 M16 40 69 ®22.3
7012887 I 114 xM16 x 50 114 M16 50 69 ®22.3
7012888 [ 114 xM16 X 63 114 M16 63 69 ®22.3

%y4 20250331 www.sankq.com



FRR5!

SANKQ

Handles series

SK7015di@F# Adjustable handles

Az Type
R
[

Bz Type
R

Bt Color: [

—— [l BC1: B#521E Black handle body black button
——— Il BC2: £#&#&18 Black handle body orange button
—— Il BC6: #4118 Black handle body red button

i BETHRREFRE. OeRptBORERTY T SRES ——— W BCT: R4 Black handle body green button
Material: Polyamide resin handle body, White galvanized steel bolt thread or “T” brass nut
£ TEHREERENZEMIR The handle body can be customized in different colors

XS Code ##% Description R d | h H D1
70157320 45 x AM5 45 M5 9 34 »11.5
7015321 0 45xM5x%x 15 45 M5 15 34 P11.5
7015322 45xM5x 20 45 M5 20 34 P11.5
7015323 45 x M5 x 25 45 M5 25 34 P11.5
7015324 ] 45x M5 x 30 45 M5 30 34 P11.5
70157330 0O 45 x AM6 45 M6 9 34 P11.5
7015331 1 45x M6 x 15 45 M6 15 34 P11.5
7015332 [ 45 x M6 % 20 45 M6 20 34 P11.5
7015333 J 45 x M6 x 25 45 M6 25 34 P11.5
7015334 [ 45 x M6 x 30 45 M6 30 34 P11.5
70157440 O 65 x AM8 65 M8 13 46 ®15.5
7015442 ] 65 x M8 x 20 65 M8 20 46 P15.5
7015443 65x M8 x 25 65 M8 25 46 P15.5
7015444 1 65x M8 x 30 65 M8 30 46 P15.5
7015446 [ 65xM8 x40 65 M8 40 46 ®15.5
7015447 1 65 x M8 x50 65 M8 50 46 ®15.5
70157550 ] 80 x AM10 80 M10 17 55 P18.5
7015552 [ 80xM10x% 20 80 M10 20 55 »18.5
7015553 1 80xM10x%x 25 80 M10 25 55 ®18.5
7015554 ] 80xM10x 30 80 M10 30 55 »18.5
7015556 ] 80xM10 x40 80 M10 40 55 P18.5
7015557 1 80xM10 x50 80 M10 50 55 ®18.5
70157660 O 95 x AM12 95 M12 22 64 d21.5
7015663 [ 95 xM12 x 25 95 M12 25 64 »21.5
7015664 95xM12x 30 95 M12 30 64 d21.5
7015666 ] 95xM12 x40 95 M12 40 64 »21.5
7015667 1 95xM12 x50 95 M12 50 64 d21.5
7015668 ] 95xM12x 60 95 M12 60 64 d21.5

www.sankg.com

20250331 (L))



Handles series

SK7018aJiEF % Adjustable handles

EREColor : o Az Type Bz Type

B: W ZBlack

O: W t&Orange ‘ R R
G:  JkGrey

E. MENEE. BEIREEFEESFHR. BEaNGEINRBEESIRE
Material: Thick zinc alloy handle body, Black oxide treatment steel sliding sleeve and screw
iE: TEMEAMRRTHRIBE The sliding sleeve can be customized in nonstandard sizes

XS Code ##% Description R d | h H D1

7018220 1 40 x AM5 40 M5 9 30 $9.2
7018221 O 40xM5x 15 40 M5 15 30 ®9.2
7018222 O 40xM5x 20 40 M5 20 30 ®9.2
7018223 1 40xM5x 25 40 M5 25 30 $9.2
7018230 O 40 x AM6 40 M6 9 30 ®9.2
7018231 0 40xM6 x 15 40 M6 15 30 ®9.2
7018232 1 40x M6 x 20 40 M6 20 30 $9.2
7018233 40x M6 x 25 40 M6 25 30 ®9.2
7018234 1 40 x M6 x 30 40 M6 30 30 ®9.2
7018440 O 65 x AM8 65 M8 12 44 ®13.7
7018442 1 65x M8 x 20 65 M8 20 44 ®13.7
7018443 1 65xM8 x 25 65 M8 25 44 ®13.7
7018444 1 65 xM8x 30 65 M8 30 44 ®13.7
7018445 [0 65x M8 x 35 65 M8 35 44 ®13.7
7018446 1 65x M8 x40 65 M8 40 44 ®13.7
7018447 O 65 xM8 x50 65 M8 50 44 ®13.7
7018550 [ 80 x AM10 80 M10 15 53 D16
7018552 ] 80xM10x% 20 80 M10 20 53 P16
7018553 1 80xM10x25 80 M10 25 53 P16
7018554 [ 80xM10x 30 80 M10 30 53 D16
7018555 [J 80xM10x 35 80 M10 35 53 P16
7018556 [ 80xM10x%40 80 M10 40 53 P16
7018557 (O 80xM10 x50 80 M10 50 53 16
7018660 [ 95 x AM12 95 M12 17 62 ®19.6
7018663 [ 95 xM12x 25 95 M12 25 62 $19.6
7018664 [ 95 xM12x 30 95 M12 30 62 ®19.6
7018666 [] 95xM12 x40 95 M12 40 62 ®19.6
7018667 [ 95 xM12 x50 95 M12 50 62 $19.6
7018668 [ 95 xM12x 60 95 M12 60 62 ®19.6
7018880 [ 110 x AM16 110 M16 20 70 P22
7018884 [ 110xM16 x 30 110 M16 30 70 22
7018886 [ 110xM16 x40 110 M16 40 70 22
7018887 [ 110xM16 x 50 110 M16 50 70 22
7018888 [ 110xM16 x 60 110 M16 60 70 22
7018889 [ 110xM16x70 110 M16 70 70 22

www.sankg.com 20250331 m



FRR5

Handles series SANKQ
SK7018SSA#MaiEAF# Stainless steel adjustable handles
B Color: O
B: B EBlack
O: | #&QOrange
G: &Grey
Az Type Ba Type
R R
A KB T
x |
. | 3
D1
8
d_|
D1

M IENEE. BelkEFaSFHiR. SUS03IBESIRET. SUS3043#E
Material: Thick zinc alloy handle body, SUS303 thread bolt, Mounting screw. SUS304 spring.
iE: ITEMERRR THIBE The sliding sleeve can be customized in nonstandard sizes

XS Code ##g Description R d | H D1
7018SS220 O 40 x AM5 40 M5 9 30 9.2
7018SS221 0 40xM5x 15 40 M5 15 30 9.2
7018SS222 1 40x M5 x 20 40 M5 20 30 9.2
7018SS223 1 40 x M5 x 25 40 M5 25 30 9.2
7018SS230 O 40 x AM6 40 M6 9 30 9.2
7018SS231 0 40xM6x 15 40 M6 15 30 9.2
7018SS232 [ 40 x M6 x 20 40 M6 20 30 9.2
7018SS233 0 40 x M6 x 25 40 M6 25 30 9.2
7018SS234 O 40 x M6 x 30 40 M6 30 30 9.2
701855440 O 65x AM8 65 M8 12 44 D13.7
7018SS442 O 65xM8x 20 65 M8 20 44 P13.7
7018SS443 65 x M8 x 25 65 M8 25 44 D13.7
7018SS444 1 65xM8x 30 65 M8 30 44 D13.7
7018SS445 65xM8x 35 65 M8 35 44 D13.7
7018SS446 I 65x M8 x40 65 M8 40 44 D13.7
7018SS447 O 65x M8 x50 65 M8 50 44 D13.7
7018SS550 [ 80x AM10 80 M10 15 53 D16
7018SS552 [ 80xM10x20 80 M10 20 53 D16
7018SS553 [ 80xM10x25 80 M10 25 53 D16
7018SS554 [ 80xM10%30 80 M10 30 53 D16
7018SS555 [ 80xM10x 35 80 M10 35 53 D16
7018SS556 [ 80xM10x40 80 M10 40 53 D16
7018SS557 [ 80xM10x50 80 M10 50 53 D16

@) 20250331

www.sankg.com



Handles series

SK7019%§IaliE@F4 Inch adjustable handles

BitiColor: o A7 Type B# Type
B: W #Black
O: W 50range R R
G:  JXGrey _ 7
A ,} T

D1

D1

M MENRE., BEIREHFAESFRER. REaSHGENPRNEEESIZRE]
Material: Thick zinc alloy handle body, Black oxide treatment steel sliding sleeve and screw

XS Code ##g Description R d | h H D1

7019230 O 1.57 x1/4-20 1.57 1/4-20 0.35 1.18 ©0.36
7019232 1 1.57 x 1/4-20% 0.50 1.57 1/4-20 0.50 1.18 @©0.36
7019233 1.57 x1/4-20%0.75 1.57 1/4-20 0.75 1.18 @©0.36
7019234 1 1.57 x1/4-20%1.00 1.57 1/4-20 1.00 1.18 @©0.36
7019235 1.57 x1/4-20%1.25 1.57 1/4-20 1.25 1.18 @©0.36
7019440 O 2.56x5/16-18 2.56 5/16-18 0.47 1.73 @©0.54
7019443 1 2.56 x5/16-18x0.75 2.56 5/16-18 0.75 1.73 @©0.54
7019444 1 2.56 x5/16-18 x 1.00 2.56 5/16-18 1.00 1.73 @©0.54
7019445 1 2.56x5/16-18x 1.25 2.56 5/16-18 1.25 1.73 @©0.54
7019446 2.56 x5/16-18 x 1.50 2.56 5/16-18 1.50 1.73 @©0.54
7019447 1 2.56 x5/16-18 x 2.00 2.56 5/16-18 2.00 1.73 ©0.54
7019550 I 3.15x3/8-16 3.15 3/8-16 0.59 2.09 @©0.63
7019553 1 3.15%x3/8-16%x0.75 3.15 3/8-16 0.75 2.09 @©0.63
7019554 1 3.15%x3/8-16x1.00 3.15 3/8-16 1.00 2.09 @©0.63
7019555 1 3.15x3/8-16%x1.25 3.15 3/8-16 1.25 2.09 @©0.63
7019556 3.15%x3/8-16 % 1.50 3.15 3/8-16 1.50 2.09 @©0.63
7019557 I 3.15x3/8-16 % 2.00 3.15 3/8-16 2.00 2.09 @©0.63
7019670 O 3.74%x1/2-12 3.74 1/2-12 0.67 2.44 D0.77
7019674 O 3.74x1/2-12%x1.00 3.74 1/2-12 1.00 2.44 D0.77
70196750 3.74%x1/2-12x1.25 3.74 1/2-12 1.25 2.44 D0.77
7019676 (I 3.74x1/2-12%x1.50 3.74 1/2-12 1.50 2.44 D0.77
7019677 3.74x1/2-12%2.00 3.74 1/2-12 2.00 2.44 D0.77
7019678 (I 3.74x1/2-12x2.50 3.74 1/2-12 2.50 2.44 D0.77
7019880 1 4.33x5/8-11 4.33 5/8-11 0.79 2.76 ©0.87
7019886 [ 4.33x5/8-11x1.50 4.33 5/8-11 1.50 2.76 ©0.87
7019887 1 4.33x5/8-11x2.00 4.33 5/8-11 2.00 2.76 ©0.87
7019888 [ 4.33x5/8-11x2.50 4.33 5/8-11 2.50 2.76 ©0.87

www.sankg.com 20250331 m



FRR5

SANKQ

Handles series

SK7028F##F Handle levers

W BENTEIREAEEIN, BB SK7441. SK7442, SK7443. SK744718F, “SS” FRAFEMNMER
Material: Carbon steel chrome plated or stainless steel, Match SK7441 . SK7442T. SK7443. SK7447 knobs.

XS Code ##g Description L d 11 12 D
7108320 60xM6 %10 60 M6 10 40 8
7108321 80xM6x10 80 M6 10 60 8
7108322 100 x M6 x 10 100 M6 10 80 8
7108323 120x M6 %x 10 120 M6 10 100 8
7108325 150 x M6 % 10 150 M6 10 130 8
7108431 80xM8x13 80 M8 13 54 10
7108432 100 xM8x 13 100 M8 13 74 10
7108434 130xM8x 13 130 M8 13 104 10
7108435 150 x M8 x 13 150 M8 13 124 10
7108436 200x M8 %13 200 M8 13 174 10
7108437 250x M8 %13 250 M8 13 224 10
7108541 80xM10x13 80 M10 13 54 12
7108542 100xM10%x 13 100 M10 13 74 12
7108544 130xM10x13 130 M10 13 104 12
7108545 150 xM10x13 150 M10 13 124 12
7108546 200xM10%x 13 200 M10 13 174 12
7108547 250xM10%x 13 250 M10 13 224 12
7108548 300xM10%13 300 M10 13 274 12
7108652 100xM12x13 100 M12 13 74 14
7108654 130xM12x13 130 M12 13 104 14
7108655 150 xM12x13 150 M12 13 124 14
7108656 200xM12%x13 200 M12 13 174 14
7108657 250xM12%x13 250 M12 13 224 14
7108658 300xM12%x13 300 M12 13 274 14
7108659 350xM12%x13 350 M12 13 324 14
7108766 200xM14 x 15 200 M14 15 170 16
7108767 250xM14 %15 250 M14 15 220 16
7108768 300xM14 x 15 300 M14 15 270 16
7108769 350xM14 x15 350 M14 15 320 16
7108876 200xM16x%x 15 200 M16 15 170 18
7108877 250xM16x%x 15 250 M16 15 220 18
7108878 300xM16x 15 300 M16 15 270 18
7108879 350xM16%x 15 350 M16 15 320 18

m 20250331 www.sankg.com



SANKQ

SK7057Af858%iF Pull handles

LSS

‘A7 BEBEBLENES

Material: “A” aluminum alloy
£ FT wHHSESNERESLARAAERET dx I “F” with annex alloy steel HEX socket head screw d x |

RIF RS

Pull handles series

d2

h1| h2

W)

X5 Code ##& Description | A= 1.00 d H H1 B h1 h2 d1 d2 I
7057A230F 90x6.5 90 M6 36 6 20 5 7 $6.5 P12 16
7057A340F 120x 8.5 120 M8 40 8 26 6 9 $8.5 P15 20
7057A540F 180%x8.5 180 M8 52 8.5 28.5 9 9 $8.5 P15 25
SK7057PR#& %5 84i¥F Pull handles
B
Annex
: |
1 Zi 2
. -
N
d2 T
: |
<
\
d1
\ A B
R ‘P’ BEILRENR
Material: ” P” matte polyamide resin
P BHEESNERESLAAIRE dx | “F” with annex alloy steel HEX socket head screw d x |
XS Code ##& Description | A+ 1.00 d H H1 B h1 h2 d1 d2 I
7057P230F 90x6.5 90 M6 36 6 20 5 7 $6.5 D12 16
7057P340F 120x 8.5 120 M8 40 8 26 6 9 8.5 »15 20
7057P540F 180x 8.5 180 M8 52 8.5 28.5 9 9 $8.5 P15 25

www.sankg.com

20250331 ([EJ)



RIF R

Pull handles series SAN Ko
SK7061#E#iF Pull handles
0"““\
I R
T
\
A B
R BEENAEMER. T HiFRG
Material: Duroplast, “T” brass nut
£5 Code #4& Description A%1.00 d H H1 B h
70617230 90 x M6 90 M6 50 18 28 12
70617340 120 x M8 120 M8 60 20 30 13
70617540 180 x M8 180 M8 60 20 30 13
70617740 240 x M8 240 M8 60 20 30 13

SK7071a#r%iF Fold—down handles

|

E BEREEEREE 304 ABIR, "F mIRIEE
Material: Carbon steel chrome plated or 304 stainless steel, "F" with locking nut

X5 Code
7071250F
7071350F
7071450F
7071550F
7071650F
7071750F
7071SS250F
7071SS350F
7071SS450F

7071SS550F
7071SS650F
7071SS750F

@) 20250331

##& Description
90xM10x%x1.5
100xM10x1.5
120xM10%x 1.5
130xM10x%x 1.5
150xM10%x 1.5
180xM10x%x 1.5
90xM10x%x1.5
100xM10x%x 1.5
120xM10%x 1.5

130xM10x 1.5
150xM10x1.5
180xM10x 1.5

A
90
100
120
130
150
180
90
100
120

130
150
180

d
M10x 1.5
M10x1.5
M10x 1.5
M10x 1.5
M10x1.5
M10x 1.5
M10x1.5
M10x1.5
M10x1.5

M10x1.5
M10x1.5
M10x1.5

H
55
55
55
55
55
55
55
55
55

55
55
55

EE

© © © © © © © © © ©o ©o ©

h1
15
15
15
15
15
15
15
15
15

15
15
15

h2
40
40
40
40
40
40
40
40
40

40
40
40

www.sankg.com



Knobs series

SK7404+tE4#BZF Star knobs

T# Type CE Type
h

FHFLd1

s BV o i

H1 Hi

D1

M, BEEYCHEMERATIEE Material: Duroplast body
. YT EiEESEE. ‘CT BeSEBRNESFLERME “T” brass nut, “C” black oxide treatment steel unthreaded insert

XS Code ##& Description D d h H D1 H1 d1
74047220 25xM5 d25 M5 9 20 P15 10
74047230 25x M6 25 M6 12 20 P15 10
7404C231 25x ©6 P25 o6 12 20 P15 10 ®3
74047330 32xM6 »32 M6 12 25 18 12
74047340 32xM8 P32 M8 13 25 P18 12
7404C341 32x 08 P32 o8 13 25 »18 12 ®3
74047440 40x M8 40 M8 13 30 P22 14
7404T450 40xM10 ®40 M10 17 30 P22 14
7404C451 40x ®10 D40 10 17 30 P22 14 d3
74047550 50 xM10 d50 M10 17 35 27 16
74041560 50xM12 D50 M12 22 35 D27 16
7404C561 50x ®12 d50 ®12 22 35 27 16 P4
74047660 63 xM12 63 M12 22 40 ®32 19
74047680 63 xM16 D63 M16 25 40 P32 19
7404C681 63x ©16 63 16 25 40 $32 19 P4
SK740075/48F Lobe Knobs h
/
B
% | UJ 7 |‘ |
H1
H

MR BEENAENERNIEE. ‘T HERE
Material: Duroplast body, “T” brass nut

f£= Code ##& Description D d h H D1 H1
74007220 22 x M5 P22 M5 9 19 D14 8
74007230 22 x M6 P22 M6 12 19 D14 8
74007330 33xM6 ®33 M6 12 23 P19 10
74007340 33xM8 P33 M8 13 23 P19 10
74007440 44 x M8 D44 M8 13 27 D23 1"
74007450 44 xM10 D44 M10 17 27 P23 11
7400T550 55xM10 d55 M10 17 33 P25 13
74007560 55xM12 d55 M12 22 33 P25 13

www.sankg.com 20250331 m



IBF R

Knobs series

SK7402TRtE21BF Star knobs

o
_

ME: BelERERIEF. ‘T HiRR8Ek
Material: Matte polyamide resin body, “T” brass nut

X5 Code #H& Description D d h H D1
74027220 25x M5 25 M5 10 16 11
74027330 32xM6 32 M6 12 23 12
74027440 40 x M8 40 M8 16 25 18
74027550 50xM10 50 M10 20 32 22
74027660 63xM12 63 M12 25 39 /

74027880 80xM16 80 M16 28 50 29

m 20250331 www.sankg.com



IEFR

SANKQ

Knobs series

SK7412T@Ef. AEIEF Through hole five star knobs h

di

¢
|

Q)

\ @ - |

H1

H. BETARBKIEF. “T" HiFRSH8RE
Material: Matte polyamide resin body, “T” brass nut

X5 Code ##& Description D d h H D1 H1 d1

74127330 32 xM6 P32 M6 13 23 P15 11 6.8
74127340 32xM8 P32 M8 13 23 P15 11 8.8
74127440 40x M8 D40 M8 13 27 D17 12.5 8.8
74127450 40xM10 D40 M10 13 27 D17 12.5 ®10.8
74127550 50xM10 d50 M10 15 34 P21.5 13.5 ®10.8
74127560 50xM12 D50 M12 15 34 P21.5 13.5 ®12.8
74127660 63xM12 P63 M12 16 39 d24.5 14.5 $12.8
74127680 63 xM16 D63 M16 16 39 d24.5 14.5 $16.8

h

SK7414TiEA tE2$BF Through hole seven star knobs

©

H

MR BEENAEMERIEF. ‘T HRESHRE

Material: Duroplast body, T” brass nut
XS Code ##& Description D d h H D1 H1 d1
74147220 25x M5 D25 M5 14 19.5 P14.5 9 P7.9
74147230 25x M6 P25 M6 14 19.5 ®14.5 9 »7.9
74147330 32 xM6 P32 M6 14 23 P18 11 $10.5
74147340 32xM8 P32 M8 14 23 D18 11 »10.5
74147440 40x M8 D40 M8 18 29 »21.5 14 D12
74147450 40xM10 P40 M10 18 29 P21.5 14 P12
74147550 50xM10 P50 M10 18 32 ®25.5 14 D17
74147560 50xM12 P50 M12 18 32 ®25.5 14 P17
74147660 63 xM12 D63 M12 18 38 ®30.5 20 D17
74147680 63 xM16 D63 M16 18 38 $30.5 20 D17

www.sankg.com

20250331 :¥g



IBFRT

Knobs series SAN Ka
SK740173fBF Lobe Knobs
' : I\
Hi1
1 H
7 BESNAEMENEF. BBt ENEIET
Material: Duroplast body, White galvanized steel bolt thread
XS Code ##& Description D d I H D1 H1
7401221 22xM5x%x15 22 M5 15 19 D12 8
7401222 22xM5x% 20 D22 M5 20 19 P12 8
7401223 22 xM5x 25 22 M5 25 19 D12 8
7401224 22xM5x% 30 D22 M5 30 19 12 8
7401231 22xM6x15 D22 M6 15 19 D12 8
7401232 22xM6 %20 22 M6 20 19 12 8
7401233 22 x M6 % 25 D22 M6 25 19 D12 8
7401234 22 xM6 %30 22 M6 30 19 12 8
7401331 33xM6x%x15 P33 M6 15 23 P19 10
7401332 33xM6x20 33 M6 20 23 »19 10
7401333 33xM6x25 33 M6 25 23 19 10
7401334 33xM6x30 P33 M6 30 23 »19 10
7401342 33xM8x20 >33 M8 20 23 »19 10
7401343 33xM8x25 P33 M8 25 23 P19 10
7401344 33xM8x30 33 M8 30 23 »19 10
7401346 33xM8x%x40 P33 M8 40 23 P19 10
7401347 33xM8x50 D33 M8 50 23 »19 10
7401442 44 x M8 x 20 D44 M8 20 27 23 11
7401443 44 x M8 x 25 D44 M8 25 27 23 11
7401444 44 x M8 x 30 D44 M8 30 27 23 11
7401446 44 x M8 x 40 P44 M8 40 27 23 11
7401447 44 x M8 x 50 44 M8 50 27 23 11
7401452 44xM10x% 20 P44 M10 20 27 23 11
7401453 44 xM10 % 25 44 M10 25 27 23 11
7401454 44xM10% 30 P44 M10 30 27 23 11
7401456 44 xM10x 40 D44 M10 40 27 23 11
7401457 44 xM10x% 50 D44 M10 50 27 23 11
7401552 55xM10 % 20 Pd55 M10 20 33 D25 13
7401553 55xM10x 25 55 M10 25 33 25 13
7401554 55xM10x 30 P55 M10 30 33 D25 13
7401556 55xM10 x40 P55 M10 40 33 25 13
7401557 55 xM10 x 50 P55 M10 50 33 D25 13
7401563 55xM12x25 P55 M12 25 33 D25 13
7401564 55xM12 x 30 P55 M12 30 33 D25 13
7401566 55xM12 x 40 d55 M12 40 33 D25 13
7401567 55 xM12 x 50 »55 M12 50 33 25 13
7401568 55 xM12 x 60 P55 M12 60 33 D25 13

m 20250331 www.sankg.com



Knobs series

SK7405t 8483 Star knobs

al T — 1 —1 —
~
H1
1 H
. BESHABENPREE, DeEEIBIRERET
Material: Duroplast body, White galvanized steel bolt thread
S Code ##& Description D d I H D1 H1
7405221 25xM5x%x15 D25 M5 15 20 D15 10
7405222 25xM5x% 20 D25 M5 20 20 D15 10
7405223 25x M5 x 25 D25 M5 25 20 D15 10
7405224 25xM5x%x30 D25 M5 30 20 D15 10
7405231 25xM6x 15 D25 M6 15 20 D15 10
7405232 25 x M6 x 20 D25 M6 20 20 D15 10
7405233 25x M6 x 25 D25 M6 25 20 P15 10
7405234 25xM6 % 30 D25 M6 30 20 D15 10
7405331 32xM6x%x15 D32 M6 15 25 D18 12
7405332 32 x M6 % 20 D32 M6 20 25 D18 12
7405333 32xM6 %25 D32 M6 25 25 D18 12
7405334 32xM6 %30 D32 M6 30 25 D18 12
7405342 32xM8x% 20 D32 M8 20 25 D18 12
7405343 32xM8x 25 D32 M8 25 25 D18 12
7405344 32xM8x%30 D32 M8 30 25 D18 12
7405346 32xM8 x40 D32 M8 40 25 D18 12
7405347 32 xM8 x50 D32 M8 50 25 D18 12
7405442 40 x M8 x 20 D40 M8 20 30 D22 14
7405443 40 x M8 x 25 D40 M8 25 30 D22 14
7405444 40 x M8 x 30 D40 M8 30 30 P22 14
7405446 40xM8 x40 D40 M8 40 30 D22 14
7405447 40 x M8 x 50 D40 M8 50 30 D22 14
7405452 40xM10x% 20 D40 M10 20 30 D22 14
7405453 40xM10x 25 P40 M10 25 30 D22 14
7405454 40xM10% 30 D40 M10 30 30 P22 14
7405456 40xM10x 40 D40 M10 40 30 D22 14
7405457 40xM10x50 D40 M10 50 30 D22 14
7405552 50xM10x% 20 D50 M10 20 35 D27 16
7405553 50 xM10x 25 D50 M10 25 35 P27 16
7405554 50 xM10x 30 D50 M10 30 35 D27 16
7405556 50 x M10 x40 D50 M10 40 35 D27 16
7405557 50 x M10 x50 D50 M10 50 35 D27 16
7405563 50xM12x 25 D50 M12 25 35 P27 16
7405564 50xM12x 30 D50 M12 30 35 D27 16
7405566 50xM12 x40 D50 M12 40 35 D27 16
7405567 50 xM12 x50 D50 M12 50 35 D27 16
7405568 50 xM12x60 D50 M12 60 35 P27 16
7405684 63xM16 x 30 D63 M16 30 40 P32 19
7405686 63xM16 x40 D63 M16 40 40 D32 19
7405687 63xM16 x50 D63 M16 50 40 D32 19
7405688 63 xM16 x60 D63 M16 60 40 D32 19

www.sankg.com 20250331 m



IBF R

Knobs series SAN Ko
SK7441FkEk Spherical knobs
h
S i n [=]
L

M BESICAEINER

Material: Duroplast
XS Code #H& Description D) d h L d1
7441120 20 xM5 $20 M5 12 19 8.8
7441130 20 x M6 ®20 M6 14 19 8.8
7441230 25x M6 25 M6 14 24 10
7441240 25xM8 d25 M8 16 24 10
7441340 32xM8 P32 M8 16 31 12
7441350 32xM10 $32 M10 20 31 12
7441X50 35xM10 P35 M10 20 34 12
7441450 40xM10 ®40 M10 20 39 17.8
7441460 40xM12 D40 M12 25 39 17.8
7441560 50xM12 d50 M12 25 47 25
7441580 50 xM16 d50 M16 32 47 25

SK7442TFHkEk Spherical knobs .

= = a
L

ME BESGAENMNER. ‘T HiRRE

Material: Duroplast, “T” brass nut
XS Code ##& Description D d h L d1
74427120 20 x M5 D20 M5 9 19 9.8
74427130 20 x M6 ®20 M6 12 19 9.8
74427230 25 x M6 d25 M6 12 24 12
74427240 25xM8 ®25 M8 13 24 12
74427340 32xM8 d32 M8 13 31 14.2
74427350 32xM10 D32 M10 17 31 14.2
7442TX50 35xM10 ®35 M10 17 34 14.2
74427450 40xM10 D40 M10 17 39 17.5
74427460 40xM12 D40 M12 22 39 17.5

m 20250331 www.sankg.com



SANKGQ BF 5]

Knobs series

SK7443%#RFHE Cone—shape knobs

Al oo -
L
E BESEREEN
Material: Duroplast
X5 Code ##& Description L d h D D1 d1
7443130 20 x M6 20 M6 14 P16 P12 8.8
7443240 25xM8 25 M8 16 $20 P15 11.8
7443350 32xM10 32 M10 20 d25 ®20 13.8
7443460 40xM12 40 M12 25 D32 ®25 17.7
7443580 50 xM16 50 M16 32 P40 d32 21.7
SK7447FHE Long knobs
h1
e -5‘ 'cm § fa)
h
L
M BeRNREER
Material: Duroplast
XS Code #H& Description L d h D D1 d1 h1
7447540 50 x M8 50 M8 35 ®21 P17 $10.3 8
7447650 63xM10 63 M10 40 23 P19 ®12.3 7.5
7447760 80xM12 80 M12 55 d26 P21 ®14.3 7.5
7447870 100 x M14 100 M14 65 30 P24 ®16.3 8

www.sankg.com 20250331 m



TRERHERS

SANKQ

Adjustable coolant hoses

H|||||||‘ e é @

SHKE| |TAfRE| (BREL Ry

Eﬁlﬁ;&‘ﬁﬂ% Adjustable coolant hoses

w5 51T 55EA /Coding and ordering instructions

Product Link BEE Nozzle
##3L Connector IR

Hamts BEAAS RS FEm T
Trimmed Code Connector Code Nozzle Code Product Link

1. REAS, REFRIAZRAN, W "AEN 174", EEHERRRTN G1/4.."
2 BAMS, BRIEFEHPIRLNFS C(01~90), w: 1/8 BLUERL S CO1..;
3. BRERS, RIESHHEFEENEFS N (01~90), W: 1/4 EAREE £S2 NO1...;
4 mTH, BIEERNTH, FESELMEE;

5. EBIEEER, FEE.

1. Finished product code refers to the inner diameter of the product, such as: "The inner diameter is 1/4", and the code in the part is represented as G1/4..."
2. Joint code refers to the serial number C (01~90) of the joint in the component, such as: 1/8 threaded joint code is CO1;

3. Nozzle code refers to the serial number N (01~90) of the nozzle in the component, such as: the code for 1/4 right angle round nozzle is NO1;

4. The number of product sections refers to the number of sections of the pipe body, excluding joints and nozzles;

5. There are requirements for color threads, which need to be noted.

/4" G1/4
3/8" G3/8
1/2" G1/2

m 20250331 www.sankg.com



SANKQ

AiRSHERS
Adjustable coolant hoses

1/4" &% 1/4 Series

RAERERT EERS

Overall length Connector size Hose body size

Nozzle size

M12

o2 ER94B3% /Assembly of adjustable coolant hoses
ERERSANE B

BT R IR S AE,

With a special pliers, we can

dismount and assemble
coolant hose simply.

www.sankg.com

20250331 (@K}



TRERHERS

Adjustable coolant hoses

Bt /Appendix 1/4

$3.2

3= Code: NO1

/4 EfaE

Right angle
round nozzle

$1.8

YRS Code: NO5
1/8 B

Circular nozzle

Y32 Code: NO9

1/4 I3ESkL

Double connector

S Code: CO1

1/8 ¥ReriEsk

& 20250331

SANKQ

$4.5

%85S Code: NO2

/4 EfBEE

Right angle
round nozzle

3

432 Code: NOb6
/4 B

Circular nozzle

%85S Code: N10

1/4YBI=18
Y-shaped tee

mS Code: CO2

174 BREUESL

db

5= Code: NO3

1/4 BREE
Right angle
round nozzle

®4.3

422 Code: NO7
1/4 B

Circular nozzle

2x22.5

3= Code: N11
1/4 BB R

Fan-shaped flat
mouth

Y55 Code: C03

/4 BBEFF

43= Code: NO4

1/4 ZER Y
Diamond nozzle

olel

482 Code: NO8
1/4 B

Circular nozzle

Y= Code: N12

114 ERFX

Tube switch

www.sankg.com



SANKQ TR SHERS)

Adjustable coolant hoses

3/8" &% 3/8 Series

&ARYT RAERAERT EEER S

Overall length Connector size Hose body size Nozzle size

M16 |

28

30.4

a2 ERYZEEE /Assembly of adjustable coolant hoses
ERERISEE A

BIoJ & BRI HE,

With a special pliers, we can

dismount and assemble

coolant hose simply.

www.sankg.com

20250331 ([P



TRERHERS

Adjustable coolant hoses

B /Appendix 3/8

6.5

%S Code: N31

3/8 ERAEIE

Right angle
round nozzle

6.3

4= Code: N35
3/8 Bl

Large diameter circular
nozzle

Y= Code: N39

3/8Y BI=i@
Y-shaped tee

YmS Code: C10
3/8 BRaEsL

D 20250331

SANKQ

$9.6

Y55 Code: N32

3/8 EAEIE

Right angle
round nozzle

©9.5

YRS Code: N36
3/8 R

Small diameter circular
nozzle

2.6x25

Y32 Code: N4O

3/8 B W
Fan-shaped flat
mouth

YmS Code: C11
1/2 W88k

®11

Y55 Code: N33

3/8 EAEIE

Right angle
round nozzle

®11

5= Code: N37
3/8 EE

Small diameter circular

nozzle

2.8x32

IS Code: N41
3/8 BRI

Fan-shaped flat
mouth

Y55 Code: C12

3/8 IELIFF K

Y55 Code: N34

3/8 EF LR
Diamond nozzle

Y55 Code: N38
3/8 Wk

Double connector

8= Code: N4&2
3/8 BIRFFx

Tube switch

www.sankg.com



SANKQ TR SHERS)

Adjustable coolant hoses

1/2" 2%l 1/2 Series

BARST RHIE BEER T

Overall length Connector size Hose body size Nozzle size

M0

AN

333

a2 ERYZEIE /Assembly of adjustable coolant hoses
ERERISAE A
BIol & RS HE,

With a special pliers, we can
dismount and assemble
coolant hose simply.

www.sankg.com 20250331 g



TRERHERS

Adjustable coolant hoses

B /Appendix 1/2

6.2

Y35 Code: N61

1/2 BB EE

Right angle
round nozzle

$6.2

Y85 Code: N65
1/2 R

Circular nozzle

w5 Code: N69

1/2Y B=3@
Y-shaped tee

w5 Code: C21
3/8 $RaviEsk

) 20250331

SANKQ

$10

Y55 Code: N62

12 EREREE

Right angle
round nozzle

9.6

Y85 Code: Nbb
1/2 B

Circular nozzle

4x29.5

Y85 Code: N70
12 BRI

Fan-shaped flat
mouth

Y= Code: C22
1/2 $8eiE sk

$13

Y55 Code: N63

172 BREE
Right angle
round nozzle

$12

RS Code: N67
1/2 B

Circular nozzle

5x46

8= Code: N71

12 B RE
Fan-shaped flat
mouth

Y= Code: C23
1/2 B FF<

Y35 Code: Nbé4

1/2 EF B

Diamond nozzle

Y85 Code: N68
1/2 Wik

Double connector

Y85 Code: N72
1/2 ERFFX

Tube switch

www.sankg.com



